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1. ÇÈæÐ½ÅÁ·µåùÏÕÑÓÁµð ¼ð²™˜µð ßæ’åêÔåÒ½ÑÓ ŠÒÊ 
›ðëéÚÈå¹ð …Áµå²µåÑ–ÓÄå ‡ÇÈåÊÒÁ·µå˜µåâÿå 
Õ²µåêÁµåÂÃÔæ˜™ 

 (1) …Ò´™²ìåêÄó ’òÅÞÑó ’æ²ìðêÂ 1861 

 (2) 1892 ²µå …Ò´™²ìåêÄó ’òÅÞÑó 
’æ²ìðêÂ 

 (3) 1909 ÔåìæÑð¤-ÕêÒ ð̄ëé ÜÈåêÁ·µæ²µå¹ð̃ µåâÿåê 

 (4) 1919 ²µå ÔåìæÒ ð̃̄ µåëÏ – ¡ÑÍþÞÇ·Èǻ µó¤ 
ÜÈåêÁ·µæ²µå¹ð˜µåâÿåê  

 

2. •êÁµæÎê •–ÁµåÍ¼ó˜µæ²µó ôåâÿåêÔåâ– …Ôå²µå 
Äæ²ìåê’å¼åÖÁµåÑ–Ó ÇÈæÐ²µåÒÊ·åÔæÎê¼åê.  

 (1) ÜÈðñ²ìåêÁµó ƒßåÍÁµó •ÿæÄó  

 (2) •ÿæÄó ƒÊêÂÑó ˜µåÇ·Èæ²µó •ÿæÄó  

 (3) ÔåìòÑæÄæ ƒÊêÑó ’åÑæÔåìó 
„¦ÿæÁµó 

 (4) ÔåêßåÔåêÁµó ƒÑ– ¨ÄæÆ 

 

3. ‘’æÒ˜µðÐÜÈó Ôåê¼åê¾ ˜µæÒÁ·™ ƒÜÈåÉûï×åÏ²™˜µð 
Ôåìæ´™ÁµðÂéÄåê’ ? ’åï½ ²µå¡ÜÝÁµåÔå²µåê  

  (1) ¦ÿðëÏé½ Êæ Ç·ÈåùíúÑð 

 (2) ÇÈð²™²ìåìæ²µó †. Õ. ²µæÔåêÜÈæÖÕê Äæ²ìåê”²µó 

 (3) Ê–.„²µó. ƒÒÊðé´µå”²µó 

 (4) ÊæÊê ¦˜µå¨éÔåÄó ²µæÔåìó  

4. † ’ðâÿå˜™Äå ÇÈðñ“ ²ìåìæ²µåÄåêÆ ‘‹’å ÔåÏ“¾ 
ƒÒôåêÊÑ’ ŠÒÁµåê ÔåìòÒ¯ó ÊæÏ®Äó²µåê 
’å²µðÁµå²µåê ? 

 (1) ˜µæÒÁ·™é¨ 

 (2) ¦Ôåßå²µó ÑæÑó Äðßå²µåë 

 (3) ÜÈåêÊ·æÚÈó ôåÒÁµåÐ ÊðëéÜÈó  

 (4) ÜÈåÁµæ¤²µó ÇÈå¯ðéÑó 

 

5. ÁµæÐÕ´µå ’å²µåªê˜µåÔåìó ÄåêÆ ÜÈæÀÇÝÜÝÁµåÔå²µåê  

 (1) ÜÝ. ²µæ¦˜µðëéÇÈæÑæôæ²™ 

 (2) ÇÈð²™²ìåìæ²µó †. Õ. ²µæÔåêÜÈæÖÕê Äæ²ìåê”²µó 

 (3) ƒ¹æ» Áµåê²µðñ 

 (4) ’å²µåê¹æÅÁ·™ ŠÒ. 

 

6. 99 Äðé ½ÁµåêÂÇÈå´™²ìåê ÇÈåÐ’æ²µå, ²µæÚÝ±øé²ìåê 
ÄðéÔåê’æ½ ÄæÏ²ìåìæÒ˜µå „²ìðëé˜µåÁµå 
Ê·æ˜µåÔæ˜™ ²ìåìæ²µåÄåêÆ ÇÈå²™˜µåºÜÈåÑæ˜™Áµð  

 (1) ÇÈåÐÁ·µæÄåÔåêÒ½Ð 

 (2) ’ðéÒÁµåÐ ’æÄåëÄåê Ôåê¼åê¾ ÄæÏ²ìåìæÒ˜µå 
ÜÈå¡Ôå²µåê 

 (3) Õ²µðëéÁ·µå ÇÈå’åÛÁµå Äæ²ìåê’å²µåê 

 (4) ƒ¯æÅ¤ ¦Äå²µåÑó 
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1. The Slogan ‘No Taxation without 
representation’ was raised against 
the provisions in the 

 (1) Indian Council Act of 1861 

 (2) Indian Council Act of 1892 

 (3) Morley-Minto Reforms of 
1909 

 (4) Montague-Chelmsford 
Reforms of 1919 

 

2. Khudai Khidmatgar Movement 
was started under the leadership 
of 

 (1) Syed Ahmad Khan 

 (2) Khan Abdul Ghaffar Khan 

 (3) Maulana Abul Kalam Azad 

 (4) Mohammad Ali Jinnah 
 

3. ‘What Congress and Gandhi 
have done to the Untouchables’ 
was written by 

 (1) Jyothiba Phule 

 (2) Periyar E.V. Ramaswami 
Naikar 

 (3) B.R. Ambedkar 

 (4) Babu Jagjivan Ram 

4. Who among the following was 
called by Mountbatten as ‘a one 
man boundary force’ ? 

 (1) Gandhiji 

 (2) Jawaharlal Nehru 

 (3) Subhash Chandra Bose 

 (4) Sardar Patel 

 

5. The ‘Dravida Kazhagam’ was 
founded by 

 (1) C. Rajagopalachari 

 (2) Periyar E.V. Ramaswami 
Naikar 

 (3) Anna Durai 

 (4) Karunanidhi M. 

 

6. Who among the followng is 
treated as part of National 
Appointment Judicial 
Commission envisaged by 99th 
amendment ? 

 (1) Prime Minister 

 (2) Union Law and Justice 
Minister 

 (3) Leader of Opposition 

 (4) Attorney General 
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7. 100 Äðé ÜÈåÒÕÁ·µæÄå ½ÁµåêÂÇÈå´™²ìåê ÕÚÈå²ìåê 

 (1) ÜÈðéÔð Ôåê¼åê¾ ÜÈå²µå’åê ¼ð²™˜µð ²µð¨éÔåìó 
(regime) 

 (2) ²µæÚÝ±øé²ìåê ÄæÏ²ìåìæÒ˜µå ÄðéÔåê’æ½ 
„²ìðëé˜µå 

 (3) ßðñÁµå²µæÊæÁµó-’åÄæ¤®’å ÇÈåÐÁµðé×åÁµå 
ƒÊ–·ÔåïÁ™ÂÃ˜µð ’åÐÔåê ¼ð˜µðÁµåê’ðëâÿåäÑê 
²µæ¦ÏÇÈæÑ²µå ÜÈåÊÑ–é’å²µå¸ 

 (4) Ê·æ²µå¼å Ôåê¼åê¾ ÊæÒ˜µæÓ Áµðé×å˜µåâÿå 
Äå´µåêÔð Ê·åëÕÅÔåê²ìåê §ÇÈåÉÒÁµå  

 

8. ‘Ê–é°Ò˜µó ²™°Ðé¯ó’ ÜÈåÔåìæ²µåÒÊ·åÔåÄåêÆ 
„²ìðëé¨ÜÈåêÔåíúÁµåê 

 (1) ˜µå¸ ²µæ¦ÿðëÏé¼åÞÔåÁµå Ôåêë²µåê 
Á™Äå˜µåâÿåÄåÒ¼å²µå  

 (2) ˜µå¸ ²µæ¦ÿðëÏé¼åÞÔåÁµå Š²µå´µåê 
Á™Äå˜µåâÿåÄåÒ¼å²µå 

 (3) ˜µå¸ ²µæ¦ÿðëÏé¼åÞÔåÁµå §ÒÁµåê Á™ÄåÁµå 
ÄåÒ¼å²µå 

 (4) ˜µå¸ ²µæ¦ÿðëÏé¼åÞÔåÁµå ƒÁµðé Á™ÄåÁµå 
ÜÈåÒ¦ÿð 

9. † ÕÔåìæÄå ÅÑæÂ¸˜µåâ–²µåêÔå ÜÈåÀâÿå˜µåâÿåÄåêÆ 
ßðëÒÁ™ÜÝ Ê²µðÎê²™.  

I. Äæ˜µåÇÈåíú²µå A. ôòÁ·µåê²™ 
ôå²µå¸ÜÝÒ˜µó 
ƒÒ¼å²µå²µæÚÝ±øé²ìåê 
ÕÔåìæÄå ÅÑæÂ¸ 

II. ÇÈæ¯æÆ B. ¦²ìåêÇÈåÐ’æ×å 
Äæ²µæ²ìåê¹ó 
ƒÒ¼å²µå²µæÚÝ±øé²ìåê 
ÕÔåìæÄå ÅÑæÂ¸ 

III. Ñ’ðëÆé C. ÑæÑó 
ÊßæÁµåëÂ²µó ×æÜÝ¾ø 
ƒÒ¼å²µå²µæÚÝ±øé²ìåê 
ÕÔåìæÄå ÅÑæÂ¸ 

IV. Ôæ²µå¹æÜÝ D. ´µæ. ÊæÊæ 
ÜÈæßðéÊó 
ƒÒÊðé´µå”²µó 
ƒÒ¼å²µå²µæÚÝ±øé²ìåê 
ÕÔåìæÄå ÅÑæÂ¸ 

 E. Õé²µó 
ÜÈæÔå¤’å¤²µó 
ƒÒ¼å²µå²µæÚÝ±øé²ìåê 
ÕÔåìæÄå ÅÑæÂ¸ 

 ÜÈå²™²ìåìæÁµå ‡¼å¾²µå˜µåâÿåÄåêÆ „²™ÜÝ. 

  I II III IV 

 (1) D B A C 

 (2) E C B A 

 (3) C A E D 

 (4) B E C A 
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7. 100th Constitutional amendment 
deals with 

 (1) Goods and Services Tax 
regime 

 (2) National Judicial 
Appointment Commission 

 (3) Empowering Governor to 
take steps to develop 
Hyderabad-Karnataka region 

 (4) Land swap agreement 
between India and 
Bangladesh 

 

 

8. Beating Retreat Ceremony is 
organised 

 (1) Three days after the 
Republic day 

 (2) Two days after the 
Republic day 

 (3) One day after the Republic 
day 

 (4) Same day evening of the 
Republic day 

9. Locate the places of the 
following airports :  

I. Nagpur A. Chaudhary 
Charan Singh 
International 
Airport 

II. Patna B. Jay Prakash 
Narayan 
International 
Airport 

III. Lucknow C. Lal Bahadur 
Shastri 
International 
Airport 

IV. Varansi D. Dr. Babasaheb 
Ambedkar 
International 
Airport 

 E. Veer Savarkar 
International 
Airport 

 Select the correct answer : 

  I II III IV 

 (1) D B A C 

 (2) E C B A 

 (3) C A E D 

 (4) B E C A 
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10. ÇÈðîÐ ’åÊÌ´™ ¼åÒ´µå˜µåâÿå ÇÈåî¸¤ ßðÜÈå²µåê 
ÜÈåë¡ÜÝ.  
I. ÊðÒ˜µåâÿåë²µåê A. Ôæ²™²ìåêÜÈó¤ 
II. ÇÈæ¯æÆ B. ¯ðñ®ÄóÞ 
III. ¼ðÑê˜µåê C. ÊêÑóÞ 
IV. ÊðÒ˜µæÑó D. ÇÈåÑ¾Äó 

 E. ÇÈðñ ²µðé¯óÞ 
 ÜÈå²™²ìåìæÁµå ‡¼å¾²µå˜µåâÿåÄåêÆ „²™ÜÝ. 

  I II III IV 
 (1) C E B A 
 (2) B C A E 
 (3) E D A C 
 (4) D A E B 
 
11. ÇÈåÐ¼ðÏé’å¼æ „Á¿·™¤’å ÔåÑ²ìåêÔåíú ²µæ¦ÏÁµå 

ßå“”˜µð ÜÈåÒÊÒÁ·™ÜÝÁµð. 

 (1) ÜÈæ˜µå²µå ÜÈåÒÇÈåÄåëÍÑ˜µåâÿå ƒÄðÖéÚÈå¹ð 
Ôåê¼åê¾ Êâÿå’ð 

 (2) ’ðñ˜µæ²™’æÊ–·ÔåïÁ™ÂÃ˜µð ÔåêëÑ 
ÜÈò’å²ìåê¤ ÜÈåïÚÝ±ÜÈåêÔåíúÁµåê 

 (3) Êßåê²µæÚÝ±øé²ìåê Å˜µåÔåê˜µåâ–˜µæ˜™  
¦ÕêéÄåê ÜÈæÖÁ·™éÄå  

 (4) Ôæº¦Ï ‡ÁµðÂé×å˜µåâÿå ÜÈåÑêÔæ˜™ 
ÇÈåÐ¼ðÏé’å Ê·åë ’æ²™´µæ²µó ÅÔåìæ¤¸  

 
12. ÄåëÏ ´µðÇÈåÑÇÈóÔðêÒ¯ó ÊæÏÒ’ó  …Áµå²µå 

Ê·æ˜µå 

 (1) BRICS (Ê–Ð’óÞ) 

 (2) WTO (´µåÊëÓ°õ) 

 (3) ÔåÑó¶¤ ÊæÏÒ’ó 

 (4) ÜÈæ’ó¤ 

13. 2015 ²µå ÇÈæÏ²™ÜÈó Ôæ²ìåêê µ̃åê¸ ÜÈåÔåìæÔðé×å-
ÁµåÑ–Ó (COP21) Ê·æ µ̃åÔåàÜÝÁµåÔå²µåê ÜÈå²µæÜÈå²™ 
¦ÿæ µ̃å½’å ¼æÇÈåÔåÄåêÆ …â–ÜÈåÑê/Õê½ µ̃ðëâ–ÜÈåÑê 
§ÇÝÉÁµåêÂ  

 (1) 2 °C 

 (2) 2.5 °C 

 (3) 3 °C 

 (4) 0.5 °C  

 

14. Ê·æ²µå¼å ÜÈå’æ¤²µåÁµå “ÜÈæ˜µå²µåÔåìæÑæ” 
²ìðëé¦Äð²ìåêê …Áµå’ð” ÜÈåÒÊÒÁ·™ÜÝÁµåêÂ  

 (1) Ê·æ²µå¼å’ð” ÜÈðé²™Áµå Á™ÖéÇÈå˜µåâÿå ÜÈæ˜µå²µå 
ÜÈåÒÇÈå’å¤ ÜÈðéÔð  

 (2) ÊÒÁµå²µåê ÔåêëÑÜÈò’å²ìåê¤˜µåâÿå   
ƒÊ–·ÔåïÁ™ÂÃ 

 (3) Ê·æ²µå¼åÁµå ÜÈæ˜µå²µå ½é²µåÁµåÑ–Ó Äò’æ 
ÄðÑð˜µåâÿå ÜÈæÀÇÈåÄð 

 (4) ÜÈæ µ̃å²µåÒ¼å²µæâÿåÁµå •Å¦ ÜÈåÒÇÈåÄåëÍÑÁµå 
ÜÈåÁµåÌâÿå’ð²ìåê ’æ²ìåê¤’åÐÔåê 

 

15. Õ×åÖÜÈåÒÜÈðÀ²ìåê ƒÁ·™’åï¼å „¦ÿðö²ìåê´™ † 
’ðâÿå˜™Äå ²ìåìæÔå ƒÒ˜µå˜µåâÿåê ÜÈæÔåìæ¨’å 
ÜÈåê²µå’åÛ¼ð˜µð ßðë¹ð²ìåìæ˜µåê¼å¾Áµð ? 

 (1) ÜÈæÔåìæÄåÏ ÜÈåÊ·ð 

 (2) ƒÒ¼å²µæÚÝ±øé²ìåê ’æÕê¤’å ÜÈåÒ›å®Äð 

 (3) „Á¿·™¤’å Ôåê¼åê¾ ÜÈæÔåìæ¨’å ÜÈåÕê½ 

 (4) ²ìåêêÄðÜÈðë”é/UNESCO 
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10. Mention the full name of Pro 
Kabaddi teams : 
I. Bengaluru A. Warriors 
II. Patna B. Titans 
III. Telugu C. Bulls 
IV. Bengal D. Paltan 
 E. Pirates 

 Select the correct answer : 
  I II III IV 
 (1) C E B A 
 (2) B C A E 
 (3) E D A C 
 (4) D A E B 
 
11. Exclusive Economic Zone 

relates to the right of state to 
 (1) Explore and use marine 

resources 
 (2) Create infrastructure for 

industrial development 
 (3) Acquire land for use of 

multinational corporations 
 (4) Build separate land corridor 

for commercial purposes 
 
12. The New Development Bank is 

part of 
 (1) BRICS 
 (2) WTO 
 (3) World Bank 
 (4) SAARC 

13. In 2015, Paris Climate 
Conference (COP21) parties 
agreed to limit the average 
global temperature below 

 (1) 2 °C 

 (2) 2.5 °C 

 (3) 3 °C 

 (4) 0.5 °C 
 

14. The Government of India’s 
“Sagar Mala” project concerns 
with 

 (1) Sea links between islands 
belonging to India 

 (2) Development of Port 
infrastructure 

 (3) Building naval bases 
around India’s sea coast 

 (4) Programme to tap marine 
and undersea mineral 
resources 

 
15. Under the UN mandate which of 

the following organs is 
responsible for social security ? 

 (1) General Assembly 

 (2) International Labour 
Organization 

 (3) Economic and Social 
Council 

 (4) UNESCO 
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16. † ’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåê Ê·æ²µå¼åÁµåÑ–ÓÄå 
ƒ¼åÏÒ¼å „âÿåÔæÁµå ÜÈæ˜µå²µå ÊÒÁµå²µåê ? 

 (1) ¦Ôæßå²µó ÑæÑó Äðßå²µåë ÊÒÁµå²µåê, 
ÄåÕ ÔåêêÒÊÎê 

 (2) ®ëÏ°’ðëé²™Äó ÊÒÁµå²µåê 

 (3) ˜µåÒ˜µæÔå²µåÔåìó ÊÒÁµå²µåê 

 (4) Á·µæÔåìæÐ ÊÒÁµå²µåê 

 

17. Ê–¦ÿæÇÈåíú²µåÁµå „Á™Ñó ÚÈæ Äå ÇÈå½Æ ôæÒÁµó 
Ê–éÊ– …Ôåâÿåê _____ Äå Ôåê˜µåâÿåê  

 (1) Ê–éÁµå²µóÄå ÜÈåêÑæ¾Äå 

 (2) ˜µðëéÑðë”Ò´µæ ÜÈåêÑæ¾Äå 

 (3) Ê–é²µæ²µó ÜÈåêÑæ¾Äå 

 (4) ƒßåÍÁµó Äå˜µå²µåÁµå ÜÈåêÑæ¾Äå 

 

18. † ’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµåê ²µæÚÈå±øÁµå 
¡ÄåÆÁµå ˜µåº˜µåâÿåÑ–Ó ÇÈåÐÔåêê•ÔåÑÓÁµåÂ-
²µåÑðëÓÒÁµæ˜™Áµð ? 

 (1) ’ðëéÑæ²µå 

 (2) ßðëÜÈåÇÈðé¯ð 

 (3) ²µæÔåê˜™²™ 

 (4) ßå°± 

19. Õ¦²ìåêÄå˜µå²µåÁµå ƒÔåÁ·™²ìåêÑ–Ó 
Ôåêßæ¦ÄåÇÈåÁµå ÜÈåÊ·ð²ìåêÄåêÆ ’å²µðÁµåÔå²µåê  

 (1) ’åÛ½Ð²ìåê²µåê 

 (2) ÊæÐßåÍ¸²µåê 

 (3) …´µåÒ˜µæÎê˜µåâÿåê 

 (4) Ôðñ×åÏ²µåê 

 

20. ’åÄå’åÁµæÜÈå²µåê ¦ÅÜÝÁµåêÂ _____ ¨ÑðÓ²ìåêÑ–Ó 

 (1) ƒÕÊ·å¨¼å Á·µæ²µåÔæ´µå ¨ÑðÓ 

 (2) Êâÿæä²™ 

 (3) ’ðëÇÈåÉâÿå 

 (4) ßåêÊÌâ–ä 

 

21. ÊßåÔåêÅ ƒÔåÁ·™²ìåêÑ–Ó ÇÈåÐÁ·µæÅ²ìåêÄåêÆ 
’å²µð²ìåêê½¾ÁµåêÂÁµåê àé˜µð 

 (1) Ôå¨é²µó  

 (2) Ôå“éÑó 

 (3) ÜÈå²µåÁµæ²µó  

 (4) •ÿæ¨ 
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16. Which one of the following is 
the deepest sea port in India ? 

 (1) Jawaharlal Nehru Port, 
Navi Mumbai 

 (2) Tuticorin Port 

 (3) Gangavaram Port 

 (4) Dhamra Port 

 

17. Chand Beebi wife of Adil Shah 
of Bijapur and she was daughter 
of  

 (1) Sultan of Bidar 

 (2) Sultan of Golkonda 

 (3) Sultan of Berar 

 (4) Sultan of Ahmadnagar 

 

18. Which one of the following is 
not one of the important gold 
mines in the country ? 

 (1) Kolar 

 (2) Hospet 

 (3) Ramgiri 

 (4) Hutti 

19. During Vijayanagara period 
Mahajanapada assembly called 
by  

 (1) Kshatriyas 

 (2) Brahamans 

 (3) Idangais 

 (4) Vysyas 

 

20. Kanakadas was born in the 
District of  

 (1) Undivided Dharwad Dist. 

 (2) Bellary 

 (3) Koppal 

 (4) Hubballi 

 

21. During Bahmani period Prime 
Minister have been called as 

 (1) Wazir 

 (2) Wakil 

 (3) Saradaar 

 (4) Qazi 
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22. Ê·æ²µå½é²ìåê ØÚÈå± Ôðéâÿð˜µåë ˜™ÐéÄó Õôó 
ØÚÈå± Ôðéâÿð˜µåë …²µåêÔå ƒÒ¼å²µå ? 

 (1) – 4 ˜µåÒ¯ð˜µåâÿåê Ôåê¼åê¾ 30 
ÅÕêÚÈå˜µåâÿåê 

 (2) – 5 ˜µåÒ¯ð˜µåâÿåê 

 (3) + 5 ˜µåÒ¯ð˜µåâÿåê Ôåê¼åê¾ 30 
ÅÕêÚÈå˜µåâÿåê 

 (4) + 6 ˜µåÒ¯ð˜µåâÿåê Ôåê¼åê¾ 30 
ÅÕêÚÈå˜µåâÿåê 

 

23. Ê·æ²µå¼åÁµåÑ–Ó Ôåêê¼åê¾ ×ðëéÁ·µå Äå´µð²ìåêêÔåíúÁµåê 
ŠÑ–Ó ? 

 (1) ’ðë¡¢ 

 (2) ’æÒ´µæÓ 

 (3) ÄåÔå ×ðéÔæ 

 (4) ®ëÏ°’ðëé²™Äó 
 

24. ÇÈå²µåÔåìæ¸ê ×å“¾ ÜÈæÀÔå²µå …²µåêÔåíúÁµåê …Ñ–Ó 

 (1) Ôæ²µå¹æÜÝ 

 (2) ÔåêêÒÊÎê 

 (3) ’ðëé¯æ 

 (4) ßåÑ–¶²ìåìæ 
 

25. Ê·æ²µå¼åÔåíú Õ×åÖÁµå §®ê± Ê·åë Ê·æ˜µåÁµå 
×ðé’å´µæ ŠÚÈåê± Ê·æ˜µå ßðëÒÁ™Áµð ? 

 (1) 2.2% 
 (2) 2.4% 
 (3) 2.3% 
 (4) 2.5% 

26. Ôðêñ’åÑó ˜™²™ ×ðÐéº²ìåêÑ–Ó † ’ðâÿå˜™Äå 
²ìåìæÔå ÄåÁ™˜µåâÿåÑðëÓÒÁµåê ‡˜µåÔåêÔæ˜™Áµð. 

 (1) ÔåêßæÄåÁ™ 

 (2) ÄåÔåê¤Áµæ 

 (3) ÜÈåÄó 

 (4) ¼æÇÝ 

 

27. † ÇÈðñ“ ²ìåìæÔåíúÁµåê ßðëÒÁ™’ð²ìåìæ˜µåÁµå 

¦ÿðëé´µå¹ð ? 

(1) ÊðñÑ´™Ñ  – ÔåêÁ·µåùÏÇÈåÐÁµðé×å

(2) ¡’å”Ôåê˜µåâÿåë²µåê – ’åÄæ¤®’å 

(3) Ôåê²ìåêë²µåÊ·åÒ¦ÿó – §²™ÜÈæÞ 

(4) ÜÝÒ˜µó Ê·åëÔåìó – ¦ÿæ²µó 
•Ò´µó 

 

28. 2011 ²µå ¦Äå˜µå¸½²ìåê Ôðêé²µð˜µð, ÜÈæ’åÛ²µå¼ð-
²ìåêÑ–ÓÄå Ôåêë²µåê ƒ¼åêÏôå¥ ÜÈåÀâÿå˜µåâÿåê  

 (1) ’ðé²µåâÿå, ÇÈåØ¢Ôåê ÊÒ˜µæâÿå, ˜µðëéÔæ 

 (2) Õê¦ÿðëé²µæÒ, ’ðé²µåâÿå, ½ÐÇÈåíú²µå 

 (3) ’ðé²µåâÿå, Ñ’åÛÁ™ÖéÇÈå, Õê¦ÿðëé²µæÒ 

 (4) ôåÒ´·™é˜µå´µó, ’ðé²µåâÿå, ˜µðëéÔæ 
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22. What is the difference between 
Indian Standard Time and 
Greenwich Standard Time ? 

 (1) – 4 hours and 30 minutes 

 (2) – 5 hours 

 (3) + 5 hours and 30 minutes 

 (4) + 6 hours and 30 minutes 

 

23. Where is pearl fishing done in 
India ? 

 (1) Cochi 

 (2) Kandla 

 (3) Nhava Sheva 

 (4) Tutucorin 

 

24. An atomic power station is 
located at : 

 (1) Varanasi 

 (2) Mumbai 

 (3) Kota 

 (4) Haldia 

 

25. India constitutes what percentage 
of the total land area of the world ? 

 (1) 2.2% 

 (2) 2.4% 

 (3) 2.3% 

 (4) 2.5% 

26. Which one of the following 
rivers does not originate the 
Maikal Range ? 

 (1) Mahanadi 

 (2) Narmada 

 (3) Son 

 (4) Tapi 

 

27. Which one of the following pairs 
is not correctly matched ? 

(1) Bailadila – Madhya 
Pradesh 

(2) Chikmagalur – Karnataka 

(3) Mayurbhanj – Orissa 

(4) Singhbhum – Jharkand 

 

28. According to census 2011, the 
three top places in respect of 
literacy went to : 

 (1) Kerala, West Bengal, Goa 

 (2) Mizoram, Kerala, Tripura 

 (3) Kerala, Lakshdweep, 
Mizoram 

 (4) Chandigarh, Kerala, Goa 
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29. ÇÈåÒôæ²ìåê¼ó ²µæ¦ÿó ÜÈåÒÜÈðÀ˜µåâÿå „Á·µæ²™¼å 
Õ’ðéÒÁ™Ðé’å²µå¸ ²ìðëé¦Äð²ìåêê …Ôå²™ÒÁµå 
ØÇ·Èæ²µåÜÈåêÞ ˜µðëâ–ÜÈåÑÉ°±Áµð 

 (1) ÊÑÔåÒ¼å²µæ²ìåìó Ôðêßæ¾  ÜÈåÕê½ 

 (2) ÔåêßæÑæÄðëéÊ–ÜÈó  ÜÈåÕê½ 

 (3) ƒ×ðëé’ó Ôðêßæ¾  ÜÈåÕê½ 

 (4) ˜µæ´™šéÑó  ÜÈåÕê½ 

 

30. ÇÈå°± I Ôåê¼åê¾ ÇÈå°± II ÄåêÆ ßðëÒÁ™ÜÝ 
ÜÈåÒ’ðé¼å˜µåâÿå „Á·µæ²µåÁ™ÒÁµå ÜÈå²™²ìåêê¼å¾²µå 
„²™ÜÝ. 

List-I 
(Ê·æÚÈæÔæ²µåê 

ÇÈåÐÁµðé×å) 

List-II 
(²µæ¦Ï/’ðéÒÁµæÐ´µåâ–¼å 

ÇÈåÐÁµðé×å) 

A. §´™²ìåìæ I. Ôåêßæ²µæÚÈå±ø 
Ôåê¼åê¾ ˜µðëéÔæ 

B. ÊðÒ˜µæâ– II. ’ðé²µåâÿå Ôåê¼åê¾ 
Ñ’åÛÁ™ÖéÇÈå 

C. ÔåêÑ²ìåìæâÿåÔåìó III. ÇÈåØ¢Ôåê ÊÒ˜µæâÿå 
Ôåê¼åê¾ ½ÐÇÈåíú²µæÁµå 
Ê·æ˜µå˜µåâÿåê 

D. Ôåê²µæ²¿™ IV. §²™ÜÈæÞ 

 ÜÈåÒ’ðé¼å˜µåâÿåê : 

  A B C D 
 (1) I II IV III 
 (2) II III I IV 
 (3) IV I III II 
 (4) IV III II I 

31. ÅéÑ– ’æÐÒ½ …Áµå’ð” ÜÈåÒÊÒÁ·™ÜÝÁµåêÂ 

 (1) Êðâÿð ’åïÚÝ 

 (2) ’ðñ˜µæ²™’æ ‡¼æÉÁµåÄð 

 (3) ÕêéÄåê˜µæ²™’ð 

 (4) ˜µåº Ôåê¼åê¾ ÑðëéßðëéÁµåÂÃ²µå¸ 
 

32. Åé²™Äå ÜÈæÒÁµåÐ¼ð²ìåêê …Ñ–Ó 
˜µå²™ÚÈå³Ôæ˜™²µåêÔåíúÁµåê 

 (1) 4 °C 

 (2) 0 °C 

 (3) 100 °C 

 (4) 27 °C 

33. ’ðâÿå’åÒ´µå ²ìåìæÔå ÔåêëÑÔåÜÈåê¾Ôåíú 
¦ÿæÖÑæÇÈå²™é’ðÛ²ìåêÑ–Ó ¡ÄåÆÁµå ßåâÿåÁ™ 
Ê¸»ÔåÄåêÆ ‡Ò®ê Ôåìæ´µåê¼å¾Áµð. 

 (1) ÜÈðëé´™²ìåêÒ 

 (2) ²µåêÊ–é´™²ìåêÒ 

 (3) ’æÏÜÝ²ìåêÒ 

 (4) Ñ–Á¿·™²ìåêÒ 

 

34. ÇÈæÑ–Á¿·™éÄó ¼å²ìåìæ²™’ð²ìåêÑ–Ó Êâÿå’ð „˜µåêÔå 
ÔðëÄðëÔåê²µó  

 (1) ÕÄðñÑó ’ðëÓé²µðñ´µó 

 (2) ŠÁ¿·™Ñ–éÄó  

 (3) †Á¿·µðñÑó „Ñðë”éßæÑó 

 (4) †Á¿·µðñÑó ’ðëÓé²µðñ´µåê 
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29. Decentralised planning on the 
basis of Pachayati Raj 
institutions was recommended 
by 

 (1) Balwantray Mehta 
Committee 

 (2) Mahalanobis committee 

 (3) Ashoka Mehta Committee 

 (4) Gadgil Committee 

 

30. Match the List-I with List-II and 
select the correct answer using 
the code given below : 

List-I 
(Linguistic 

Region) 

List-II (State/    
Union 

Territory) 

A. Odia I. Maharashtra 
& Goa 

B. Bengali II. Kerala & 
Lakshadweep 

C. Malyalam III. West Bengal 
& parts of 
tripura 

D. Marathi IV. Odisha 

 Codes : 

  A B C D 
 (1) I II IV III 
 (2) II III I IV 
 (3) IV I III II 

 (4) IV III II I 

31. Blue Revolution relates to 

 (1) Crop farming 

 (2) Industrial production 

 (3) Fishing 

 (4) Mining and metallurgy 

 

32. The density of water is 
maximum at 

 (1) 4 °C 

 (2) 0 °C 

 (3) 100 °C 

 (4) 27 °C 

 

33. Which of the following element 
produces golden yellow colour 
in flame test ? 

 (1) Sodium 

 (2) Rubidium 

 (3) Caesium 

 (4) Lithium 

 

34. The monomer that is used in the 
manufacture of polythene is 

 (1) Vinyl chloride 

 (2) Ethylene 

 (3) Ethyl alcohol 

 (4) Ethyl chloride 
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35. ÑðëéßåÁµå ßðëâÿåÇÝ˜µð ’æ²µå¸  

 (1) ƒÁµå²µå ƒÁ·™’å ÜÈæÒÁµåÐ¼ð 

 (2) ƒÁµå²µå Äå²ìåê˜µðëâ–ÜÝÁµå ÔðêéÑðÍþñ 

 (3) ƒÁµå²µå ²µæÜÈæ²ìåêÅ’å ¦´µå¼ð 

 (4) Ôåêê’å¾ …Ñð’æ±øÄåê˜µåâÿå ƒÜÝ¾¼åÖ 

 

36. ÅÒÊðßåº»ÄåÑ–Ó²µåêÔå „ÔåêÓ 

 (1) ÑæÏ“±’ó „ÔåêÓ 

 (2) ÔðêÑðëéÅ’ó „ÔåêÓ 

 (3) ¯æ¯æ¤²™’ó „ÔåêÓ 

 (4) ÜÝ°Ð’ó „ÔåêÓ 

 

37. ÄðñÜÈå˜™¤’å ²µåÊÌ²µåê …Áµå²™ÒÁµå 
‡¼åÉ½¾²ìåìæ˜™²µåêÔå ÇÈæÑ–Ôåê²µåê 

 (1) ŒÜÈðëéÇÝÐéÄó  

 (2) ŠÁ¿·™Ñ–éÄó 

 (3) ÇÈðîÐÇÝÑ–éÄó  

 (4) ÊëÏ¯æ´™éÄó  

 

38. ÜÝéÜÈåÁµå ÇÈðÅÞÑó˜µåâÿåÑ–Ó Êâÿå’ð „˜µåêÔå Á·µæ¼åê  

 (1) ÜÈå¼åê 

 (2) ÜÝéÜÈå 

 (3) ’æÊ¤Äó (…Ò˜µæÑ) 

 (4) ¼åÔå²µå 

39. † ’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ¦ÄåÇÝÐ²ìåêÔæ˜™ 
²ìåìæÔåíúÁµåÄåêÆ Äå˜™ÜÈåêÔå ƒÅÑ ŠÒÁµåê 
’å²µð²ìåêê¼æ¾²µð ? 

 (1) Äðñ®ÐÜÈó „’ðÞûñ´µåê 
 (2) Äðñ°Ð’ó „’ðÞûñ´µåê 
 (3) Äðñ¯ðëÐé¦Äó  
 (4) Äðñ¯ðëÐé¦Äó ÇÈðÒ¯æ’ðÞûñ´µåê 
 
40. ’åÇÈåíþÉ ßåÑ˜µð ÔðêéÑð Ê²µð²ìåêêÔå 

ÜÝéÔðêÜÈåê¸»ÔåÄåêÆ …Áµå²™ÒÁµå 
¼å²ìåìæ²™ÜÈåÑÉ°±Áµð ? 

 (1) ÜÈðëé´™²ìåêÒ Êðñ’æÊðë¤éÄðé®ê 
 (2) ’æÏÑ–Þ²ìåêÒ ’æÊðë¤éÄðé®ê 
 (3) ÇÈðî¯æÏÜÝ²ìåêÔåìó ßðñ´µæÐ’ðÞûñ´µåê 
 (4) ÜÈðëé´™²ìåêÒ Äðñ¯ðÐé®ê 
 
41. ÜÈåê¸» Êâ–²ìåêêÕ’ð²ìåêÑ–Ó Êâÿå’ð „˜µåêÔå 

ÜÈåê¸»Áµå ²µæÜÈæ²ìåêÅ’å ßðÜÈå²µåê 
 (1) ÜÈðëé´™²ìåêÒ Êðñ’æÊðë¤Äðé¯ó  
 (2) ’æÏÑ–Þ²ìåêÒ ’æÊðë¤Äðé¯ó 
 (3) ’æÏÑ–Þ²ìåêÒ „’ðÞûñ´µåê 
 (4) ÜÈðëé´™²ìåêÒ ’æÊðë¤Äðé¯ó 
 
42. Õ×åÖÁµåÑ–Ó²µåêÔå Ê´µå¼åÄåÔåÄåêÆ ÅÔåêë¤Ñ 

Ôåìæ´µåÑê ÁµæÄåÁµå½¾ ÇÈåÐ²ìåê¼åÆ˜µåâÿåÄåêÆ 
‡¼ð¾é¨ÜÈåÑê, ÔæÚÝ¤’åÔæ˜™ ²ìåìæÔå 
Á™ÄåÁµåÒÁµåê ƒÒ¼å²µå²µæÚÝ±øé²ìåê ÁµæÄåÁµå½¾ 
Á™ÄåÔåÄåêÆ „ôå²™ÜÈåÑæ˜µåê¼å¾Áµð ? 

 (1) ÜÈðÇÈð±ÒÊ²µó 4  
 (2) ÜÈðÇÈð±ÒÊ²µó 5 
 (3) ÜÈðÇÈð±ÒÊ²µó 6 
 (4) ÜÈðÇÈð±ÒÊ²µó 7 
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35. The luster of metal is due to 

 (1) its high density 

 (2) its polished surface 

 (3) its chemical inertness 

 (4) presence of free electrons 

 

36. The acid present in lemon is 

 (1) lactic acid 

 (2) malonic acid 

 (3) tartaric acid 

 (4) citric acid 

 

37. Natural rubber is a polymer 
derived from 

 (1) isoprene 

 (2) ethylene 

 (3) propylene 

 (4) butadiene 

 

38. The element used in lead pencils 
is 

 (1) zinc 

 (2) lead 

 (3) carbon 

 (4) tin 

39. Which among the following is 
popularly called laughing gas ? 

 (1) Nitrous oxide 

 (2) Nitric oxide 

 (3) Nitrogen 

 (4) Nitrogen pentaoxide 
 

40. Chalk which is used for writing 
on black board is made up of 

 (1) Sodium bicarbonate 

 (2) Calcium carbonate 

 (3) Potassium hydroxide 

 (4) Sodium nitrate 
 

41. The chemical name of lime, used 
for white wash, is 

 (1) sodium bicarbonate 

 (2) calcium carbonate 

 (3) calcium oxide 

 (4) sodium carbonate 
 

42. The International Day of Charity 
is being observed on which date 
annually to promote charitable 
efforts made to alleviate poverty 
across the world ? 

 (1) September 4th  

 (2) September 5th 

 (3) September 6th 

 (4) September 7th 
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43. ÇÈåÐ¸Ôó ¦ÿð²™Ð ôðëéÇÈæÐ † “Ðé´µð˜µð 
ÜÈåÒÊÒÁ·™ÜÝÁµæÂ²µð. 

 (1) ÊæÏ´™ÍÒ®Äó  

 (2) ¯ðÅÆÜÈó 

 (3) “Ð’ð¯ó 

 (4) ßæ“  

 

44. “ µ́ðÔðë’æÐ̄ óÞ Ôåê¼åê¾ ™́ÜÈðÒ®ÜÈó¤” ÇÈåíúÜÈå¾’åÁµå 
’å¼å¤ï ²ìåìæ²µåê ? 

 (1) ‡ÇÈåÔåêÄåêÏ ôå®¨¤ 

 (2) ²µæÔåêôåÒÁµåÐ ˜µåêßæ 

 (3) Õ’åÐÔåìó ÜÈðé²¿µó 

 (4) ƒÕêÚÈó ½ÐÇÈæ²¿™ 

 

45. † ÜÈå²µåº²ìåêÑ–Ó 

 5, 7, 1, 2, 2, 8, 7, 4, 3, 1, 5, 3, 8, 
6, 6, 2, 2, 7, 1, 4, 1, 3, 5, 6, 8 

 ƒÄåê’åÐÔåê ÜÈåÒ•ÿðÏ˜µåâÿå ŠÚÈåê± ¦ÿðëé´™˜µåâÿåê 2 
²µå ÔåÏ¼æÏÜÈåÔåÄåêÆ ßðëÒÁ™Ôð ? 

 (1) 6 

 (2) 5 

 (3) 4 

 (4) 7 

46. † ÜÈå²µåº²ìåêÑ–Ó ¼åÇÝÉßðëé˜™²µåêÔå ÜÈåÒ•ÿðÏ  

 4, 9, 25, _____ , 121, 169, 289, 
361 

 (1) 36 
 (2) 49 
 (3) 64 
 (4) 81 
 

47. A > B, B > C Ôåê¼åê¾ C > D „Áµå²µð 
’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ²ìåìæÔå ½éÔåìæ¤Äå 
•¡¼åÔæ˜™ ¼åÇÈåíþÉ ? 

 (1) A > D 
 (2) A > C 
 (3) B > D 
 (4) D > A 
 

48. ’åÄæ¤®’å ²µæ¦ÏÁµåÑ–Ó Ôåê’å”âÿå ÜÈåÔåê˜µåÐ      
ƒÊ–·ÔåïÁ™ÂÃ ²ìðëé¦Äð²ìåêÄåêÆ ²ìåìæÔå       
ÜÈæÑ–ÅÒÁµå ¦ÿæ²™˜µðëâ–ÜÈåÑæ˜™Áµð  

 (1) „˜µåÜÈó± 1965 

 (2) ƒ’ðë±éÊ²µó 1975 

 (3) ¦ÄåÔå²™ 1973 

 (4) ƒ’ðë±éÊ²µó 1985 

 
49. ÊòÁµåÂÃ ÜÈæà¼åÏ † Ê·æÚÈð²ìåêÑ–Ó Ê²µð²ìåêÑÉ°±Áµð 

 (1) ÇÈæÐ’åï¼å 

 (2) ÇÈæÑ– 

 (3) ÜÈåÒÜÈå”þï¼å 

 (4) ¼åÕêâÿåê 
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43. Pranaav Jerry Chopra is related 
to 

 (1) Badminton 

 (2) Tennis 

 (3) Cricket 

 (4) Hockey 

 

44. The book “Democrats and 
Dissenters” has been authored 
by whom ? 

 (1) Upamanyu Chatterjee 

 (2) Ramchandra Guha 

 (3) Vikram Seth 

 (4) Amish Tripathi 

 

45. In the series :  

 5, 7, 1, 2, 2, 8, 7, 4, 3, 1, 5, 3, 8, 
6, 6, 2, 2, 7, 1, 4, 1, 3, 5, 6, 8 

 how many pairs of successive 
numbers have a difference of 2    
each ? 

 (1) 6 

 (2) 5 

 (3) 4 

 (4) 7 

46. The missing number in the 
sequence : 

 4, 9, 25, _____, 121, 169, 289, 
361 

 (1) 36 
 (2) 49 
 (3) 64 
 (4) 81 
 
47. If A > B, B > C and C > D, then 

which of the following 
conclusions is definitely wrong ? 

 (1) A > D 
 (2) A > C 
 (3) B > D 
 (4) D > A 

 
48. The Integrated Child 

Development Program in the 
State of Karnataka was 
introduced in the year 

 (1) Aug. 1965 
 (2) Oct. 1975 
 (3) Jan. 1973 
 (4) Oct. 1985 
 
49. Buddhist literature was written 

in  
 (1) Prakrit 
 (2) Pali 
 (3) Sanskrit 
 (4) Tamil 
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50. Õ×åÖÁµå ƒ½ Áµðë´µå¶ ÕÚÈå²ìåìæÁ·µæ²™¼å 
§âÿæÒ˜µå¸ ‡ÁµæÏÄå † ÇÈðñ“ ²ìåìæÔå 

Äå˜µå²µåÁµåÑ–Ó ¼ð²µð²ìåêÑ–Áµð ? 

 (1) ÁµåêÊðñ 

 (2) ÄåëÏ²ìåìæ’ó¤ 

 (3) ÇÈæÏ²™ÜÈó 

 (4) ÊÑ–¤Äó  

 

51. ²ìåìæÔå ²µæ¦ÏÁµåÑ–Ó ÄðñÔðéÑ– ‡ÚÈå» ÕÁµåêÏ¼ó 

ÜÈæÀÔå²µå …Áµð ? 

 (1) ‡¼å¾²µå ÇÈåÐÁµðé×å 

 (2) ÔåêÁ·µåùÏ ÇÈåÐÁµðé×å 

 (3) ¼åÕêâÿåêÄæ´µåê 

 (4) ’åÄæ¤®’å 

 

52. Ê·æ²µå¦Ñ ÄåëÏ“Ó²ìåê²µó ÜÈæÀÔå²µåÔåíú 
ÄåëÏ¯æÐÄåê˜µåâÿå Ôðé˜µå ¼å˜™šÜÈåÑê 
Ê·æ²µå¦ÑÔåÄåêÆ Êâÿå’ð Ôåìæ´µåêÔåíúÁµåê. † 
²µæÚÈå±ø˜µåâÿå ÇÈðñ“ ²ìåìæÔåíúÁµåê Ê·æ²µå¦ÑÁµå 

ƒÁ·™’å ‡¼æÉÁµå’å ²µæÚÈå±ø ? 

 (1) ’ðÄå´µæ 

 (2) Ê·æ²µå¼å 

 (3) ²µåÚÈæÏ 

 (4) ²ìåêê.ŠÜÈó.Š. 

53. ôðÄðë¤éÊ–Ñó Áµåê²µåÒ¼åÔåÄåêÆ …½ßæÜÈåÁµå 
àéÄæ²ìåê ÄåëÏ“Ó²ìåê²µó Áµåê›å¤®Äð ŠÒÁµåê 
ÇÈå²™˜µåºÜÈåÑæ˜™Áµð. † ÜÈæÀÔå²µåÁµåÑ–Ó 
ÄåëÏ¯æÐÄó Ôðé˜µå ¼å˜™šÜÈåÑê Êâÿå’ð „˜µåêÔå 
ÔåêÒÁµå’å 

 (1) Ê·æ²µå¦Ñ 

 (2) ßå̃ µåê²µå ¦Ñ 
 (3) Ôðêñ’æ 

 (4) ›åÄå ˜µæÐÇ·Èðñ®ê 

 
54. ÊðÜÈðÑó ÜÈåÔåìæÔðé×åÔåíú …Áµå²µå ÜÈåÒÊÒÁ·™ 

ƒÒ¼å²µæÚÝ±øé²ìåê §ÇÈåÉÒÁµå  

 (1) ¨éÕ ÔðñÕÁ·µåùÏ ÜÈåÒ²µå’åÛ¹ð 

 (2) õ¦ÿðëéÄó ÇÈåÁµå²µå ÄåØÜÈåêÕ’ð 

 (3) ˜µå´™²ìåìæôð˜µð ÔæÏÇÝÜÈåêÔå ßæÅ’æ²µå’å 
¼æÏ¦Ï Ôåê¼åê¾ „Áµå²µå ÕÑðéÔæ²™  

 (4) ˜µå´™²ìåìæôð ÇÈåÐÊ·æÔå Ê–é²µåêÔå 
²ìðëé¦Äð˜µåâÿå ÇÈå²™ÜÈå²µæ¼åÍ’å 
ÜÈðéÇÈå¤´µð˜µåâÿå Å²ìåêÒ¼åÐ¸ 

 
55. † ÇÈðñ“ ¼åÇÈåíþÉ ßðéâ–’ð ÇÈå¼ð¾ Ôåìæ´™. 

 (1) ÔåìæÄåÔå ƒÊ–·ÔåïÁ™ÂÃ Ôå²µåÁ™²ìåêê Õ×åÖ 
ÊæÏÒ’ó ßðë²µå´™ÜÈåêÔå ƒÁ·™’åï¼å 
ÔæÚÝ¤’å ÇÈåÐ’å®¹ð 

 (2) ßåê°±Äå Å²™é’ðÛ ßðôå¢âÿåÁ™ÒÁµå 
Á™é›æ¤²ìåêêÚÈåÏÔåÄåêÆ ÔåìæÇÝÜÈåê¼å¾Áµð  

 (3) ¦ÿæöÄåÔåÄåêÆ Ôå²ìåêÜÈå”²µå ÜÈæ’åÛ²µå¼ð 
Áµå²µåÁ™ÒÁµå ƒâÿð²ìåêê¼å¾Áµð  

 (4) ¨éÔåÄåÔåê®±ÔåÄåêÆ ¼åÑæÔæ²µåê ¨´™ÇÝ 

ÎêÒÁµå ƒâÿð²ìåêê¼å¾Áµð (US $ PPP) 
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50. World’s largest indoor theme 
park will open in which of the 
following cities ? 

 (1) Dubai 

 (2) New York 

 (3) Paris 

 (4) Berlin 

 

51. In which state is the Neyveli 
thermal power station located ? 

 (1) Uttar Pradesh 

 (2) Madhya Pradesh 

 (3) Tamil Nadu 

 (4) Karnataka 

 

52. The heavy water nuclear reactor 
use heavy water to slow down 
the speed of neutrons. Which 
one of the following countries is 
the largest producer of such 
water ? 

 (1) Canada 

 (2) India 

 (3) Russia 

 (4) USA 

53. The Chernobyl accident is 
regarded as the worst nuclear 
dissaster in history. The 
moderator that slow down the 
speed of neutron used in this 
plant was 

 (1) Heavy water 
 (2) Light water 
 (3) Mica 
 (4) Solid Graphite 
 
54. The Basel convention is an 

international treaty concerned 
with 

 (1) Conservation of biodiversity 
 (2) Depletion of Ozone layer 
 (3) Control of transboundary 

movements of hazardous 
waste & their disposal. 

 (4) Regulation of 
environmental impact of 
projects having 
transboundary effects 

 
55. Identify the wrong statement : 
 (1) Human Development 

Report is an authoritative 
annual publication brought 
out by the World Bank. 

 (2) It measures longevity by 
life expectancy at birth 

 (3) Knowledge is measured by 
Adult Literacy Rate. 

 (4) Standard of living is 
measured by GDP per 
capita (US $ PPP) 
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56. 2011 ²µå ¦Äå̃ µå̧ ½²ìåê ÇÈåÐ’æ²µå Ê·æ²µå¼åÔåíú 
§®ê± ÜÈæ’åÛ²µå¼æ ’æ²ìåê¤’åÐÔåêÁµåÑ–Ó ƒ½éÔå 
ÇÈåÐ µ̃å½ ÜÈæÁ·™ÜÝÁµð, „Áµå²µåë ƒÁµåê Ôåêàâÿð 
Ôåê¼åê¾ ÇÈåíú²µåêÚÈå ÜÈæ’åÛ²µå¼ð ƒÒ¼å²µåÕ²µåêÔåíúÁµåÄåêÆ 
ÜÈåßæ µ̃åºÜÝÁµð. † ²µæ¦Ï  

 (1) ôå½¾éÜÈó ˜µå´·µó 

 (2) ²µæ¦ÜÈæÀÄå 

 (3) ÔåêÁ·µåùÏ ÇÈåÐÁµðé×å 

 (4) Ê–ßæ²µå 

 

57. 2011 ²µå ¦Äå˜µå¸½²ìåê Ôåìæà½ÎêÒÁµå 
’åÒ´µåêà´™²ìåêÑæ˜™ÑÓÁµåÔåíú † ÇÈðñ“ 

²ìåìæÔåíúÁµåê ? 

 (1) ¦ÄåÜÈåÒ•ÿæÏ ßðôå¢âÿå Áµå²µåÔåíú 
¦ÄåÁµå®±¹ð …²µåêÔå ²µæ¦Ï˜µåâÿåÑðÓÑæÓ 
¼å˜™šÁµð  

 (2) Ê–ßæ²µåÔåíú † Áµå×å’åÁµåÑ–Ó ¦ÄåÜÈåÒ•ÿðÏ 
ßðôå¢âÿåÔåÄåêÆ † Áµå×å’åÁµåÑ–Ó         
Áµæ•Ñ–ÜÝÁµå ²µæ¦Ï˜µåâÿåÑ–Ó ‡ôå¥ 
ÜÈæÀÄåÔåÄåêÆ ˜µåâ–ÜÝÁµð.  

 (3) Ê·æ²µå¼åÁµåÑ–Ó²ìðêé ‡¼å¾²µå ÇÈåÐÁµðé×åÔåíú 
ƒ½ ¦ÄåÁµå®±¹ð²ìåê ²µæ¦Ï  

 (4) Ñ–Ò µ̃æÄåêÇÈæ¼å (Ôåêàâÿð²ìåê²µåê ßæ µ̃åë 
ÇÈåíú²µåêÚÈå²µå ÜÈåÒ•ÿæÏ ƒÄåêÇÈæ¼å) Ôåíú 
Ôåê¼å¾ÚÈåê± …â–Ôåêê•Ôæ ™̃²µåêÔåíúÁµåê 

2001 ²µå ¦Äå̃ µå̧ ½²ìåê ƒÒ“ µ̃åâ–̃ µð 
ßðëéÑ–ÜÝÁµæ µ̃å ’åÒ µ́åê ÊÒÁ™Áµð  

58. ÇÈæÐÁµðéØ’å ˜µæÐÕêé¸ ÊæÏÒ’åê˜µåâÿåÄåêÆ 

(RRB) ’åê²™¼åÒ¼ð † ÇÈðñ“ ²ìåìæÔåíúÁµåê 
ÜÈå²™²ìåêÑÓ  

 (1) ÜÈå¸» Ôåê¼åê¾ ƒÒ¡Äå ²µðñ¼å²™˜µð Äðé²µå 
ÜÈæÑ Åé´µåê¼å¾Áµð  

 (2) ƒÁµå²µå ÜÈåßåÇÈæÐ²ìðëé¦’å²µåê ²™ÜÈåÔó¤ 
ÊæÏÒ’ó „Ç·Èó …Ò´™²ìåìæ  

 (3) ƒÔåíú …¼å²µå ÊæÏÒ“Ò˜µó 
’æ²ìåìæ¤ôå²µå¹ð˜µåâÿåÄåêÆ Ôåìæ´µåê¼å¾Ôð  

 (4) ²µæ¦Ï ÜÈå’æ¤²µå˜µåâÿåê  RRBs ˜µåâÿå 
ÚÈðé²µåêÁµæ²µå²µåê.  

 

59. † ’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ²ìåìæÔå ½ÁµåêÂÇÈå´™˜µåâÿåê 
Áµðé×åÁµå ÜÈæÔå¤Ê·òÔåê¼åÖ Ôåê¼åê¾ ÜÈåÔåê˜µåÐ¼ð²ìåê 
²µå’åÛ¹ð̃ µæ ™̃ ÇÈåÐ¦ÿð̃ µåâÿå ÔåêëÑÊ·åë¼åå ßå’åê” µ̃åâÿå 

ÔðêéÑð ÅÊ¤ÒÁ·µå˜µåâÿåÄåêÆ ÕÁ·™ÜÝ¼åê ? 

 (1) 14 Äðé ½ÁµåêÂÇÈå´™ 

 (2) 16 Äðé ½ÁµåêÂÇÈå´™ 

 (3) 24 Äðé ½ÁµåêÂÇÈå´™ 

 (4) 39 Äðé ½ÁµåêÂÇÈå´™ 
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56. According to census 2011, one 
state in India has made a 
tremendous progress in total 
literacy, however it also 
accounted for the widest gap 
between female & male literacy. 
The state in question is 

 (1) Chhattisgarh 

 (2) Rajasthan 

 (3) Madhya Pradesh 

 (4) Bihar 

 

57. Which of the following is not 
one of the findings of census 
2011 ? 

 (1) Rates of Growth of 
population have fallen in 
the six most populous 
states. 

 (2) Bihar topped among the 
major states in the matter of 
population growth during 
the decade. 

 (3) Uttar Pradesh is the most 
populous state in India. 

 (4) Sex Ratio (The ratio of 
women to men) has further 
declined in comparison to 
the census 2001 figures.  

58. Which of the following is not 
true of the Regional Rural Banks 
(RRBs) ? 

 (1) They provide direct loan to 
small & marginal farmers. 

 (2) They are co-sponsored by 
Reserve Bank of India. 

 (3) They also perform other 
Banking operations. 

 (4) State Governments are 
share holders in RRBs. 

 

59. Which of the following 
amendments imposed 
restrictions on the fundamental 
rights of the citizens to protect 
the sovereignty and integrity of 
the country ? 

 (1) 14th Amendment 

 (2) 16th Amendment 

 (3) 24th Amendment 

 (4) 39th Amendment 



121  (22 - A) 

60. ÇÈå°±-I (ÇÈå’åÛ µ̃åâÿåê) Ôåê¼åê¾ ÇÈå°±-II (ÔæÏÇÈæ²™ 

§’åë”®) ð̄Ðé µ́ó ²ìåêëÅ²ìåêÄó ßðëÒÁ™ÜÝ 
ÜÈå²™²ìåêê¼å¾²µåÁµå ÜÈåÒ’ðé¼å „²ìðê” Ôåìæ ™́. 

ÇÈå°±-I ÇÈå°±-II 

A. Ê·æ²µå½é²ìåê 
ÄæÏÚÈåÄåÑó 
’æÒ˜µðÐÜÈó 

I. CITU 

B. Ê·æ²µå½é²ìåê 
¦Äå¼æ ÇÈå’åÛ 

II. AITUC 

C. Ê·æ²µå½é²ìåê 
’åÔåêëÏÅÜÈó± ÇÈå’åÛ 

III. BMS 

D. Ê·æ²µå½é²ìåê 
’åÔåêëÏÅÜÈó± ÇÈå’åÛ 

(Ôåìæ“Þ¤ÜÈó±) 

IV. INTUC 

 V. BKS 
 ÜÈåÒ’ðé¼å˜µåâÿåê : 

  A B C D 
 (1) III IV II I 
 (2) IV III I V 
 (3) III IV I V 
 (4) IV III II I 
 
61. ‡ôå¥ ÄæÏ²ìåìæÑ²ìåê˜µåâÿåê ÔåêëÑÊ·åë¼å 

ßå’åê”˜µåâÿå ßðé²™’ð˜µð ²™¯ó˜µåâÿåÄåêÆ ¦ÿæ²™ 
Ôåìæ´µåêÔåíúÁµåê …Áµå²µå´™ 

 (1) 225 Äðé ÕÁ·™  
 (2) 226 Äðé ÕÁ·™ 
 (3) 227 Äðé ÕÁ·™  
 (4) 228 Äðé ÕÁ·™ 

62. ²µæ¦Ï˜µåâÿåê Ôåê¼åê¾ ’ðéÒÁµåÐ˜µåâÿå Äå´µåêÔð 
ƒÁ·™’æ²µå ßåÒ¡’ð ’åê²™¼åÒ¼ð † 
’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ²ìåìæÔå ßðéâ–’ð ÜÈå²™ ? 

 (1) ƒÁ·™’æ²µåÔåÄåêÆ Ôåêë²µåê Ê·æ˜µå˜µåâÿæ˜™ 
ÇÈå°± Ôåìæ´µåÑæ˜™Áµð  

 (2) ’ðéÒÁµåÐ ÜÈå’æ¤²µåÁµå ƒÁ·™’æ²µå˜µåâÿåÄåêÆ 
ÅÁ™¤ÚÈå± ÇÈå´™ÜÈåÑæ˜™ÁµåêÂ ‡â–Áµå 
ƒÁ·™’æ²µå˜µåâÿåÄåêÆ ²µæ¦Ï˜µåâ–˜µð 
ÔåàÜÈåÑæ˜™Áµð  

 (3) ²µæ¦Ï˜µåâÿå ƒÁ·™’æ²µå˜µåâÿåÄåêÆ ÅÁ™¤ÚÈå± 
ÇÈå´™ÜÈåÑæ˜™ÁµåêÂ ‡â–Áµå 
ƒÁ·™’æ²µå˜µåâÿåÄåêÆ ’ðéÒÁµåÐ’ð” 
ÔåàÜÈåÑæ˜™Áµð 

 (4) ƒÁ·™’æ²µå˜µåâÿåÄåêÆ ÕÒ˜µå´™ÜÝ Š²µå´µåê 
ÇÈå°±˜µåâÿåÄåêÆ Ôåìæ´µåÑæ˜™Áµð. 

 

63. Ôåêê•ÏÔåêÒ½Ð˜µåâÿåê Ôåêï¼å²µæÁµå /²µæ¨éÄæÔðê 
Åé´™Áµå ÜÈåÒÁµåÊ·å¤ÁµåÑ–Ó, 

 (1) ÔåêÒ½ÐÔåêÒ´µåÑÁµåÑ–ÓÄå ƒ¼åÏÒ¼å 
à²™²ìåê ÜÈå¡Ôå²µåê Ôåêê•ÏÔåêÒ½Ð˜µåâÿå 
ƒÁ·™’æ²µåÔåÄåêÆ ÔåàÜÝ’ðëâÿåêäÔå²µåê  

 (2) ‡ôå¢ ÄæÏ²ìåìæÑ²ìåêÁµå Ôåêê•Ï 
ÄæÏ²ìåìæÁ·™é×å²µåê Ôåêê•ÏÔåêÒ½Ð˜µåâÿå 
’æ²ìåê¤˜µåâÿåÄåêÆ ÔåàÜÝ’ðëâÿåêäÔå²µåê 

 (3) ÜÈå¡Ôå ÔåêÒ´µåâ–²ìåêê ¼åÒ¼æÄðé 
²µåÁµæÂ˜µåêÔåíúÁµåê  

 (4) ²µæ¦ÏÇÈæÑ²µåê ¼å¼ó’åÛ¸Ôðé ßðëÜÈå 
Ôåêê•ÏÔåêÒ½Ð²ìåê ÄðéÔåê’å 
Ôåìæ´µåêÔå²µåê 
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60. Match List I (Parties) with List 
II (Trade Unions) and select the 
correct answer. 

List I List II 

A. Indian National 
Congress 

I. CITU 

B. Bhartiya Janta 
Party 

II. AITUC 

C. Communist 
Party of India 

III. BMS 

D. Communist 
Party of India 
(Marxist) 

IV. INTUC 

 V. BKS 

 Codes : 

  A B C D 

 (1) III IV II I 

 (2) IV III I V 

 (3) III IV I V 

 (4) IV III II I 

 
61. The High Courts are empowered 

to issue writs for the 
enforcement of fundamental 
rights under. 

 (1) Article 225 
 (2) Article 226 
 (3) Article 227 
 (4) Article 228 

62. Which one of the following 
statements regarding distribution 
of power between centre and the 
states is correct ? 

 (1) Powers have been divided 
into three lists. 

 (2) Powers of the centre have 
been specified and 
remaining powers have 
been allotted to the states. 

 (3) Powers of the states have 
been specified in the 
constitution and the 
remaining powers belong to 
the centre. 

 (4) Powers have been divided 
into two lists. 

 

63. In the event of the death or 
resignation of chief minister 

 (1) The senior most member of 
the council of ministers 
takes over as the Chief 
Minister 

 (2) The Chief Justice of the 
High court assumes the 
duties of the Chief Minister 

 (3) The council of ministers 
automatically get dissolved 

 (4) The Governor immediately 
appoints a new Chief 
Minister 
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64. ²µæ¦ÏÁµå ÕÁ·µæÄå ÇÈå²™ÚÈå¼å¾ÄåêÆ ÇÈæÑ–¤ÔðêÒ®ê 
…Ôå²µå ØÇ·Èæ²µåÜÝÞÄå ÔðêéÑð Ôå¦ÿæ 
Ôåìæ´µåÊßåêÁµåê  

 (1) ²µæ¦ÏÇÈæÑ²µåê 

 (2) ²µæ¦Ï ÕÁ·µæÄåÜÈåÊ·ð  

 (3) ƒÁ·µåùÏ’åÛ²µåê 

 (4) …Ôåíú˜µåâÿåÑ–Ó ²ìåìæ²µåë ƒÑÓ 

 

65. ÜÈå’æ¤²™²ìåìæ „²ìðëé˜µåÔåÄåêÆ ÄðéÕêÜÝÁµåêÂ  

 (1) ÇÈåÒ¦ÿæÊ–Äå Ê–’å”°±˜µð ÇÈå²™ßæ²µå 
’åÒ´µåê’ðëâÿåäÑê  

 (2) ²µæ¦Ï-’ðéÒÁµåÐ ÜÈåÒÊÒÁ·µå˜µåâÿåÄåêÆ 
ÇÈå²™ØéÑ–ÜÈåÑê 

 (3) ’æÔðé²™ Åé²™Äå ßåÒ¡’ð ÔæÏ¦ÏÔåÄåêÆ 
Ê˜µðßå²™ÜÈåÑê 

 (4) ÜÈæÔå¤¦Å’å ÔåÑ²ìåê ‡Á™ÂÔðê˜µåâÿå 
’æ²ìåê¤Ôðñ•²™ ÇÈå²™é“ÛÜÈåÑê 

 

66. ÜÈåÒÕÁ·µæÄåÔåíú ‘²µðÜÝ´µåêÏ²ìåê²™ ÇÈåÔåÜÈó¤’ 
(‡â–’ð ƒÁ·™’æ²µå) ˜µåâÿåÄåêÆ ’ðéÒÁµåÐ’ð” 
Åà¼å˜µðëâ–ÜÝÁµð. „Áµå²µð §ÒÁµåê ÕÚÈå²ìåêÔåíú 
‘‡â–’ð ƒÁ·™’æ²µå’ð”’ §âÿåÇÈǻ µåêÔåíúÁµðé …ÑÓÔðé 
ŠÒÊêÁµåÄåêÆ ÅÁ·µå¤²™ÜÈåêÔå ƒÒ½Ôåê 
ÇÈæÐÁ·™’æ²µåÔåíú …Áµæ ™̃Áµð. 

 (1) ÇÈæÑ–¤ÔðêÒ¯ó (ÜÈåÒÜÈå¼åê¾) 

 (2) ƒÁ·µåùÏ’åÛ²µåê 

 (3) ²µæ¦Ï ÜÈåÊ·ð 

 (4) ÜÈåÔðî¤éôå¥ ÄæÏ²ìåìæÑ²ìåê 

67. 2016 ²µå ‹’åÑÔåÏ ÇÈåÐ×åÜÝ¾²ìåêÄåêÆ ˜µðÁµåÂ 
“Ðé´µæÜÈåÉÁ·™¤ ²ìåìæ²µåê ? 

 (1) ƒ¨Ò’åÏ ²µåßæÄð 

 (2) ÇÝ.Õ. ÜÝÒÁ·µåê 

 (3) Ôðêé²™ ’ðëéÒ 

 (4) ÜÈåÐÊæÅ ÄåÒÁµæ  

 

68. ²ìåìæ˜µðëéÄó, Ôåê²ìåêÄæÍ²µó ˜µåâÿåÑ–Ó ¼åÄåÆ 
×æ•ÿð²ìåêÄåêÆ ¼ð²µðÁµå Ôðë®± ÔðëÁµåÑ 
Ê·æ²µå½é²ìåê ÜÈåÖÁµðéØ (´µðëÔðêÜÝ±’ó) ÊæÏÒ’åê 
²ìåìæÔåíúÁµåê ? 

 (1) ÇÈåÒ¦ÿæÊó ÄæÏÚÈåÄåÑó ÊæÏÒ’åê 

 (2) Ê·æ²µå½é²ìåê ÜÈð±é¯ó ÊæÏÒ’åê 

 (3) ÊæÏÒ’ó „Ç·Èó Ê²µðëé´µæ 

 (4) ÁµðéÄæ ÊæÏÒ’åê 

 

69. † ’ðâÿå˜™ÄåÔå²µåÑ–Ó 2016-17 ²µå ÜÈæÑ–Äå ‚ 
ÔåêßåÚÝ¤ ÔæÑ–Íé“ ¦²ìåêÒ½²ìåê 
ÇÈåÐ×åÜÝ¾˜µæ˜™ „²ìðê”²ìåìæÁµåÔå²µåê ²ìåìæ²µåê ? 

 (1) ´™. Êðëé²µåÇÈåÉ 

 (2) ßðôó. ƒÒ¦Äðé²ìåê 

 (3) Õé²µå¸»  

 (4) ŠÜÈó.¨. ßð˜µð¶ 
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64. The legislative council in a state 
can be abolished by the 
parliament on the 
recommendation of 

 (1) The Governor 

 (2) The state legislative 
assembly 

 (3) The President 

 (4) None of these 

 

65. The Sarkaria Commission was 
appointed 

 (1) To find a solution to the 
Punjab Crisis 

 (2) To examine centre state 
relations 

 (3) To resolve dispute over 
sharing of Cauvery Waters 

 (4) To examine the working of 
Public Sector Undertakings 

 

66. The constitution has vested the 
‘residuary powers’ with the 
centre. But the final authority to 
decide whether a matter falls 
under residuary powers are not 
rests with 

 (1) The Parliament 

 (2) The President 

 (3) The Rajya Sabha 

 (4) The Supreme Court 

67. Which sportsperson has won the 
2016 Eklabya Award ? 

 (1) Ajinkya Rahane 

 (2) PV Sindhu 

 (3) Mary Kom 

 (4) Srabani Nanda 

 

68. Which bank has become the first 
domestic bank of India to open a 
branch in Yagon, Myanmar ? 

 (1) Punjab National Bank 

 (2) State Bank of India 

 (3) Bank of Baroda 

 (4) Dena Bank 

 

69. Who of the following has          
been selected for the Sri 
Maharshi Valmiki Jayanti Award 
2016-17 ? 

 (1) D Borappa 

 (2) H Anjaneya 

 (3) Veeranna 

 (4) S G Hegde 
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70. ƒ’ðë±éÊ²µó 2016 ²µåÑ–Ó Ê–Ð’óÞ-Ê–éÔåìó ÜÈð±’ó 
Ë°Ðéôó ×åïÒ˜µåÜÈåÊ·ð²ìåêê Ê·æ²µå¼åÁµå ²ìåìæÔå 
²µæ¦ÏÁµåÑ–Ó ÔðëÁµåÑ Êæ²™˜µð Äå´µðÎê¼åê ?  

 (1) ˜µðëéÔæ 

 (2) ‡¼å¾²µå ÇÈåÐÁµðé×å 
 (3) Ôåêßæ²µæÚÈå±ø  
 (4) ’åÄæ¤®’å 
 
71. Ê·æ²µå¼åÁµåÑ–Ó ²ìåìæÔå Á™ÄåÔåÄåêÆ „²µå’åÛ’å²µå 

ÜÈæÍ²µå’ðëé¼åÞÔå Á™Äå (ÇÈðîéÑ–éÜÈó 
’åÔðêÍÔðë²µðéÚÈåÄó) Ôæ ™̃ „ôå²™ÜÈåÑæ µ̃åê¼å¾Áµð ? 

 (1) ƒ’ðë±éÊ²µó 23 
 (2) ƒ’ðë±éÊ²µó 25 
 (3) ƒ’ðë±éÊ²µó 21 

 (4) ƒ’ðë±éÊ²µó 22 
 
72. Êæ¼åê’åÔåêÍ ‡¼åÞÔåÔåÄåêÆ Ê·æ²µå¼åÁµå ²ìåìæÔå 

²µæ¦ÏÁµåÑ–Ó „ôå²™ÜÈåÑæ˜µåê¼å¾Áµð  

 (1) ’åÄæ¤®’å  

 (2) ¼ðÑÒ˜µæ¸ 

 (3) ²µåªìæ²µó•Ò´µó  

 (4) ’ðé²µåâÿå 

 
73. Ê·æ²µå½é²ìåê Ôæ²ìåêêÁµåâÿå Á™ÄåÔåÄåêÆ ²ìåìæÔå 

Á™ÄæÒ’åÁµåÒÁµåê „ôå²™ÜÈåÑæ˜µåê¼å¾Áµð.  

 (1) ƒ’ðë±éÊ²µó 9 

 (2) ƒ’ðë±éÊ²µó 7 

 (3) ƒ’ðë±éÊ²µó 8 

 (4) ƒ’ðë±éÊ²µó 10 

74. 19 Äðé ×å¼åÔåìæÄåÁµå ’ðÑÔåíú ÇÈåÐÔåêê• ²µðñ¼å 
ÁµåÒ˜µð˜µåâÿåê Ôåê¼åê¾ ƒÔåíú˜µåâÿå Äæ²ìåê’å²µåê † 
’ðâÿå˜™ÄåÒ½Ôð.  

A. ÜÈåÒ¼æÑó 
ÁµåÒ˜µð 

– ÜÝ´µðë Ôåê¼åê¾ 
’æÄåêá 

B. ˜µåêÒÜÈæ²µó Äå 
’ðëÒ´µå²µåê 

– ôå’åÐ Ê–ÜÈðëé²ìåìó

C. ÜÈåÔæ²µð ÁµåÒ˜µð – ²µæÁ·µæ’åïÚÈå» 
ÁµåÒ´µåÜÈðéÄå 

D. ÇÈåÊæÆ 
ÊÒ´µæ²ìåê 

– ’ðé×åÔå 
ôåÒÁµåÐ²µæ²ìåìó 

 ’ðâÿå˜™Äå ÜÈåÒ’ðé¼å˜µåâÿå ÔåêëÑ’å ÜÈå²™²ìåìæÁµå 

‡¼å¾²µå˜µåâÿåÄåêÆ „²™ÜÝ : 

 (1) A Ôåìæ¼åÐ 

 (2) B, C 

 (3) D Ôåìæ¼åÐ 

 (4) A, B, C, D 

 

75. Ê·æ²µå½é²ìåê ²µæÚÝ±øé²ìåê ’æÒ˜µðÐÜÈó Äå 
½ÐÇÈåíú²µå ƒÁ·™Ôðé×åÄåÁµåÑ–Ó (Ôåìæôó¤ 1939) 
ƒÁ·µåùÏ’åÛ˜™²™˜µæ˜™ Ôåêßæ¼åÍ ˜µæÒÁ·™é¨-
²ìåêÔå²µå ƒÁ·™’åï¼å ƒÊ·åùÏÁ¿·™¤²ìåêÄåêÆ ÜÈåêÊ·æÚÈó 
ôåÒÁµåÐ ÊðëéÜÈó²µåÔå²µåê ÜÈðëéÑ–ÜÝÁµå²µåê. „ 

ƒÊ·åùÏÁ¿·™¤ ²ìåìæ²µåê  ? 

 (1) ƒÊêÂÑó ’åÑæÒ „¦ÿæÁµó 

 (2) Õ. ²µæ¦˜µðëéÇÈæÑæôæ²™ 

 (3) ÇÈå¯æ±Ê–· ÜÝé¼æ²µæÔåê²ìåêÏ · 

 (4) ÔåÑÓÊ·åÊæÎê ÇÈå¯ðéÑó  
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70. The first ever BRICS-
BIMSTECH outreach summit 
was held in which state of India 
in October 2016 ? 

 (1) Goa 

 (2) Uttar Pradesh 

 (3) Maharashtra 

 (4) Karnataka 

 

71. The police Commemoration Day 
is celebrated on which day in 
India ? 

 (1) October 23 

 (2) October 25 

 (3) October 21 

 (4) October 22 

 
72. The Bathukamma festival is 

celebrated in which state of       
India ? 

 (1) Karnataka 
 (2) Telangana 
 (3) Jharkhand 
 (4) Kerala 
 
73. The Indian Air Force (IAF) Day 

is celebrated on which date ? 
 (1) October 9 
 (2) October 7 
 (3) October 8 
 (4) October 10 

74. Some of the important peasent 
revolts of the 19th Century and 
their leaders were as follows : 

A. Santhal 
Rebellion 

– Sido and 
Kanhu 

B. Khonds 
of 
Ghumsar 

– Chakra 
Bisoi 

C. Savare 
rebellion 

– Radha 
Krishna 
Dandasena

D. Pabna 
Uprising 

– Kesab 
Chandra 
Roy 

 Select the code for the correct 
statements : 

 (1) Only A 

 (2) B, C 

 (3) Only D 

 (4) A, B, C, D 

 

75. At the Tripura session of Indian 
National Congress (March 
1939), Subhash Chandra Bose 
defeated Mahatma Gandhi’s 
official candidate for the 
Presidentship. Who was he ? 

 (1) Abul Kalam Azad 

 (2) V. Rajgopalachari 

 (3) Pattabhi Sitaramayya 

 (4) Vallabhbhai Patel 
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76. ’ðéÒÁµåÐ ÕÁ·µæÄå ÜÈåÊ·ð²ìåêÑ–Ó Ê·å˜µå¼ó ÜÝÒ˜µó 
Ôåê¼åê¾ Ê–.’ð. Áµå¼ó¾ ²µåê ÊæÒÊÄåêÆ ŠÜÈðÁµåêÁµåê  

 (1) ÜÈæÔå¤¦Å’å ÜÈåê²µå’åÛ¼æ ÔåêÜÈåëÁµð²ìåê 
¡’å” Ê·æ˜µåÁµå Õ²µåêÁµåÂÃ ÇÈåÐ½Ê·å°ÜÈåÑê  

 (2) Ê–Ð°ÚÈó ÜÈå’æ¤²µåÔåÄåêÆ ’ðâÿå˜™â–ÜÈåÑê  
 (3) ÕÁ·µæÄå ÇÈå²™ÚÈå½¾Äå ÜÈåÁµåÜÈåÏ²µåÄåêÆ 

’ðëÑÓÑê  
 (4) ÑæÑæ Ñ¦ÇÈå¼ó ²µæ²ìåìó ²µå 

Ôåê²µå¸Áµå ÜÈðé´µåê ½é²™ÜÝ’ðëâÿåäÑê  
 
77. ’ðâÿå˜™Äå ›å®Äð˜µåâÿå ÜÈå²™²ìåìæÁµå 

’æÑæÄåê’åÐÔåêº’ð ’åÐÔåê ²ìåìæÔåíúÁµåê  
 A. “ÐÇÈóÞ Å²ìðëé˜µå  
 B. ˜µæÒÁ·™-…Õ¤Äó §ÇÈåÉÒÁµå 
 C. ÜÈðñÔåêÄó „²ìðëé˜µå 
 D. ²µæÚÈå±øÁµå ÕÊ·å¦Äð 
 ’ðâÿå˜™Äå ÜÈåÒ’ðé¼å˜µåâÿå ÔåêëÑ’å ÜÈå²™²ìåìæÁµå 

‡¼å¾²µå˜µåâÿåÄåêÆ „²™ÜÝ. 
 (1) A, B, C, D 
 (2) B, A, D, C 
 (3) B, A, C, D 
 (4) C, B, A, D 
 
78. Ê·æ²µå½é²ìåê²µå ÇÈæÐ½ÅÁ·µåùÏ Åé´µåêÔå 

ÕÔæßåÁµå ÇÈåÐ¼ðÏé’åÄåÁµå ÜÈåÔåêÜÈðÏ ’åê²™¼æÁµå 
’ðâÿå˜™Äå ÇÈåÐ²ìåê¼åÆ˜µåâÿåÄåêÆ ’æÑæÄåê’åÐÔåêÁµåÑ–Ó 
¦ÿðëé´™ÜÝ. 

 A. Äðßå²µåë Ôå²µåÁ™ 
 B. Š²µå´µåÄðé ÁµåêÒ´µåê Ôðêé¨Äå ÇÈå²™ÚÈå¼åê¾ 
 C. ÜÈðñÔåêÄó „²ìðëé˜µå  
 D. ÇÈåîÄæ §ÇÈåÉÒÁµå 
 (1) B, A, C, D  
 (2) D, C, B, A 
 (3) C, A, B, D  
 (4) D, A, B, C 

79. ’ðâÿå’åÒ´µå ²µæÚÝ±øé²ìåê ›å®Äð˜µåâÿåÄåêÆ 
’æÑæÄåê’åÐÔåêÁµåÑ–Ó ¦ÿðëé´™ÜÝ. 

 A. ƒÊ–·ÄåÔå Ê·æ²µå¼ó  

 B. ƒ•–Ñ Ê·æ²µå¼å ÔåêêÜÝÓÒ Ñ–é˜µó  

 C. ’æÒ˜µðÐÜÈó ßðëéâÿæÁµåêÁµåê 

 D. ÊÒ˜µæâÿå ÕÊ·å¦Äð 

 ÜÈå²™²ìåìæÁµå ÜÈåÒ’ðé¼å˜µåâÿåÄåêÆ „²™ÜÈåêÔåíúÁµå²µå 
ÔåêëÑ’å ‡¼å¾²™ÜÝ : 

 (1) A, D, B, C  
 (2) D, B, A, C 
 (3) A, B, D, C  
 (4) C, A, B, D 
 

80. ÔåÜÈæßå¼åêÚÈæà ƒÔåÁ·™²ìåêÑ–Ó Ê·æ²µå¼åÁµå 
ÕÕÁ·µå ÇÈåÐÁµðé×å˜µåâÿåÑ–Ó ²µðñ¼å ÁµåÒ˜µð˜µåâÿåê 
Äå´µðÁµåÔåíú. † ’ðâÿå˜™Äå ßðéâ–’ð˜µåâÿåÄåêÆ 
ÇÈå²™é“ÛÜÝ.  

 A. ½ÐÇÈåíú²µæÁµå ’åê“ ÁµåÒ˜µð 

 B. ÇÈåÒ¦ÿæÊó Äå ’åê ’æ ÁµåÒ˜µð 

 C. ÊÒ˜µæâÿåÁµåÑ–Ó ÇÈåÊæÆ ÊÒ´µæ²ìåê 

 D. Ê–ßæ²µåÁµåÑ–Ó Ê–ÜÈæÐ ÔåêêÒ´µæ²µå ÁµåÒ˜µð 

 ÜÈå²™²ìåìæÁµå ßðéâ–’ð˜µåâÿåÄåêÆ ÜÈåÒ’ðé¼å˜µåâÿå 
ÜÈåßæ²ìåêÁ™ÒÁµå „²™ÜÝ. 

 (1) A Ôåìæ¼åÐ  

 (2) A Ôåê¼åê¾ B 

 (3) B Ôåê¼åê¾  C 

 (4) A, B, C Ôåê¼åê¾  D 
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76. Bhagat Singh and B.K. Dutt 
throw a bomb in the central 
legislative assembly 

 (1) To protest against the 
passage of the Public Safety 
Bill 

 (2) To overthrow the British 
Government 

 (3) To kill the members of the 
legislative council 

 (4) To avenge the death of Lala 
Lajpat Rai 

 
77. Which is the correct 

chronological order of the 
following events ? 

 A. Cripps Mission 
 B. Gandhi-Irwin pact 
 C. Simon Commission 
 D. Partition of the country 
 Select the correct answers :  
 (1) A, B, C, D 
 (2) B, A, D, C 
 (3) B, A, C, D 
 (4) C, B, A, D 
 
78. Arrange the following efforts 

towards the sorting out of the 
issue of representation of Indians 
in Chronological order : 

 A. Nehru Report 
 B. Second Round Table 

Conference 
 C. Simon Commission 
 D. Poone Pact 
 (1) B, A, C, D 
 (2) D, C, B, A 
 (3) C, A, B, D 
 (4) D, A, B, C 

79. Chronologically arrange the 
following nationalist events : 

 A. Abhinav Bharat 

 B. All India Muslim League 

 C. The Congress Split 

 D. Partition of Bengal 

 Select the correct code : 

 (1) A, D, B, C 

 (2) D, B, A, C 

 (3) A, B, D, C 

 (4) C, A, B, D 
 

80. Peasent revolts took place in 
different part of India in the 
colonial period. Examine the 
following statements : 

 A. Kuki revolt in Tripura 

 B. Kuka revolt in Punjab 

 C. Pabna uprising in Bengal 

 D. Birsa Munda’s revolt in 
Bihar 

 Select the code for correct 
statements : 

 (1) A only 

 (2) A and B 

 (3) B and C 

 (4) A, B, C and D 
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81. Ñðëé’å ÜÈåÊ·ð Ôåê¼åê¾ ²µæ¦Ï ÜÈåÊ·ð˜µåâÿå ¦Ò° 
„Á·™Ôðé×åÄåÔåÄåêÆ ²ìåìæ²µåê ‹ÇÈå¤´™ÜÈåêÔå²µåê  

 (1) ÜÈåÊ·æÁ·µåùÏ’åÛ²µåê 

 (2) ²µæ¦Ï ÜÈåÊ·ð²ìåê ƒÁ·µåùÏ’åÛ²µåê 

 (3) ƒÁ·µåùÏ’åÛ²µåê 

 (4) ÜÈåÒÜÈåÁ™é²ìåê ÔåÏÔåßæ²µå˜µåâÿå ÜÈå¡Ôå²µåê 

 

82. ²µæ¦Ï ÜÈåÊ·ð²ìåê ÜÈåÁµåÜÈåÏ²µåê˜µåâÿåê 
„²ìðê”²ìåìæ˜µåêÔåíúÁµåê  

 (1) ƒ¨éÔå ÇÈå²ìåìæ¤Ò¼å 

 (2) 6 ÔåÚÈå¤˜µåâÿå ƒÔåÁ·™˜µð 

 (3) 5 ÔåÚÈå¤˜µåâÿå ƒÔåÁ·™˜µð 

 (4) 4 ÔåÚÈå¤˜µåâÿå ƒÔåÁ·™˜µð 

 

83. ÜÈåÔðî¤éôå¥ ÄæÏ²ìåìæÑ²ìåêÁµå ÄæÏ²ìåìæÁ·™é×å- 
²µåê˜µåâÿåê ¼åÔåêÍ ’å£ðé²™²ìåêÑ–Ó 
’æ²ìåê¤ÔåÄæÆ²µåÒÊ–·ÜÈåêÔå ÔåêêÄåÆ ÇÈåÐÔåìæ¸ 
ÔåôåÄå ÇÈåÐ½¦ÿðö²ìåêÄåêÆ ÜÝÖé’å²™ÜÈåÊðé’æ˜™ÁµåêÂ, 
…Áµåê Äð²µåÔðé²™ÜÈåÑÉ´µåêÔåíúÁµåê …Ôå²™ÒÁµå  

 (1) ƒÁ·µåùÏ’åÛ²µåê 

 (2) Ê·æ²µå¼åÁµå Ôåêê•Ï ÄæÏ²ìåìæÁ·™é×å²µåê 

 (3) ‡ÇÈæÁ·µåùÏ’åÛ²µåê 

 (4) Ê·æ²µå¼åÁµå ƒ¯æÅ¤ ¦Äå²µåÑó  

84. ²µæ¦ÏÁµå ÕÁ·µæÄå ÇÈå²™ÚÈå¼åê¾  

 (1) 4 ÔåÚÈå¤˜µåâÿå ƒÔåÁ·™˜µð 
„²ìðê”²ìåìæ˜µåêÔåíúÁµåê 

 (2) 5 ÔåÚÈå¤˜µåâÿå ƒÔåÁ·™˜µð 
„²ìðê”²ìåìæ˜µåêÔåíúÁµåê 

 (3) §ÒÁµåê ×æ×åÖ¼å ÔåêÄð, ÕÜÈå¦¤Äð-
²ìåìæ˜µåêÔåÒ¼åßåêÁµåÑÓ   

 (4) 6 ÔåÚÈå¤˜µåâÿå ƒÔåÁ·™˜µð 
„²ìðê”²ìåìæ˜µåêÔåíúÁµåê 

 

85. “²µå¨²ìåìæ ²µæ¦Äæ˜µåêÔå ŠÑæÓ ˜µåê¸˜µåâÿåÄåêÆ 

ßðëÒÁ™ ²ìðëé˜µåÏâÿæ˜™ÁµæÂâÿð. „Áµå²µð „’ð 

ÜÈå²™²ìåìæÁµå Ñ–Ò˜µåÁ™ÒÁµå ¦ÅÜÝÑÓ.” † 

Ôæ’åÏ˜µåâÿåê ²ìåìæ²™˜µð ÜÈðé²™ÁµåÔåíú˜µåâÿæ˜™Ôð ? 

 (1) ƒÑó Êð²µåëÅ 

 (2) ƒÕê²µó •êÜÈðëÐé 

 (3) ÕêÄæá¦ÿó ÜÝ²µæ¦ÿó  

 (4) …ÊÆ Ê®ë¯æ 
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81. Who convey the joint session of 
the Lok Sabha and Rajya Sabha ? 

 (1) The speaker 

 (2) The chairman of the Rajya 
Sabha 

 (3) The President 

 (4) The Minister of the 
Parliamentary Affairs 

 

82. The members of the Rajya Sabha 
are elected 

 (1) For life 

 (2) For a term of 6 years 

 (3) For a term of 5 years 

 (4) For a term of 4 years 

 

83. The judges of the Supreme Court 
have to take an oath or 
affirmation before entering upon 
their office, which is conducted 
to them by 

 (1) The President 

 (2) The Chief Justice of India 

 (3) The Vice President 

 (4) The Attorny General of 
India 

84. The legislative Council of a state 

is 

 (1) elected for a term of 4 years 

 (2) elected for a term of 5 years 

 (3) a permanent house, not 

subject to dissolution 

 (4) elected for a term of 6 years 

 

85. ‘Raziya was endowed with all 

the qualities befitting a king but 

she was not born of the right 

sex.’ 

 Who is credited with these lines ? 

 (1) Al Beruni 

 (2) Amir Khusrau 

 (3) Minhaj Siraj 

 (4) Ibn Battutah 
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86. ’ðÑÔåíú Ôåêßæ’æÔåÏ˜µåâÿå ²µåôåÄð’æ²µå²µåê Ôåê¼åê¾ 

ƒÔå²µå ’åï½˜µåâÿåÄåêÆ ’ðâÿå˜™Äå ßðéâ–’ð˜µåâÿåÑ–Ó 

Åé´µåÑæ˜™Áµð.  

 A. “²µæ¼æ¦ê¤Åé²ìåê → Ê·æ²µåÕ 

 B. ØÑÇÈåÉÁ™’æ²µåÒ → ƒ´™˜µæÑó Ôåê¼åê¾ 

ÜÈå¼æ¾Äå²µó 

 C. ÔåêºÔðêé•Ñðñ → …âÿåÒ˜µðëé 

 D. Áµå×å’åêÔåìæ²µå ôå²™¼å → ÁµåÒ´™ 

 ÜÈå²™²ìåìæÁµå ‡¼å¾²µå˜µåâÿåÄåêÆ ÜÈåÒ’ðé¼å˜µåâÿå 

ÔåêëÑ’å „²™ÜÝ. 

 (1) B Ôåê¼åê¾ C 

 (2) A Ôåê¼åê¾ D 

 (3) C Ôåìæ¼åÐ  

 (4) A, B, C Ôåê¼åê¾ D 

 

87. † ’ðâÿå˜µð Åé´µåÑæ˜™²µåêÔå ²µåôåÄð˜µåâÿåÄåêÆ 
‹²™’ð²ìåê ’æÑæÄåê’åÐÔåêÁµåÑ–Ó ¦ÿðëé´™ÜÝ. 

 A. ÇÈåíú²™ ¦˜µåÄæÆÁ¿·µå ÁµðéÔæÑ²ìåê 

 B. ÕêéÄæ“Û ÁµðéÔæÑ²ìåê 

 C. ÔåìæÔåêÑÓÇÈåíú²µå ²µåÁ¿·µå˜µåâÿåê 

 D. ’åê¼åêÊó ÕêéÄæ²µó  
 ’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó ÜÈå²™²ìåìæÁµå ‡¼å¾²µå˜µåâÿåÄåêÆ 

ÜÈåÒ’ðé¼å˜µåâÿå ÔåêëÑ’å „²™ÜÝ. 
 (1) A, B, C, D 
 (2) A, C, B, D 
 (3) B, C, A, D 
 (4) C, A, D, B 

88. ßåÑÔæ²µåê Õ•ÿæÏ¼å …½ßæÜÈå’æ²µå²µåê 

ÇÈæÐ²µåÒÊ–·’å ÔåêÁ·µåùÏ²ìåêê˜µåÁµå ƒÔåÁ·™²ìåê 

…½ßæÜÈåÔåÄåêÆ ÕÕÁ·µå „â–Ö’ð˜µæ²µå²µåÄåêÆ 

ÕÚÈå²ìåêÔæ˜™®ê±’ðëÒ´µåê ²µå¡ÜÝÁµæÂ²µð.  

 A. ƒÕêé²µó •êÜÈðëÐéÄåê ƒÑæÓÔåíúÁ™ÂéÄó 

•–Ñ–©²ìåê ÔðêéÑð 

 B. ¨²ìåìæÔåíúÁ™ÂéÄó Ê²µòÅ²ìåêê 

ÔðëßåÔåêÁµó Ê–Äó ¼åê›åÑ’ó Äå 

ÔðêéÑð 

 C. …ÊÆ Ê®ë¯æÄåê …Ñ¾ÕêÚÈó Äå 

ÔðêéÑð  

 D. ÕêÄæá¦ÿó-‡²µó-ÜÝ²µæ¦ÿó Äåê 

Ç·Ý²µðëé¦ÿó ÚÈæ ¼åê›åÑ’ó Äå ÔðêéÑð  

 ÜÈåÒ’ðé¼å˜µåâÿå ÔåêëÑ’å ÜÈå²™²ìåìæÁµå 

‡¼å¾²µå˜µåâÿåÄåêÆ „²™ÜÝ. 

 (1) A Ôåìæ¼åÐ  

 (2) B Ôåìæ¼åÐ 

 (3) B Ôåê¼åê¾ D  

 (4) C Ôåìæ¼åÐ 



121 (33 - A) 

 
86. Some of the epic compositions 

& their works have been 

mentioned in the following 

statements : 

 A. Kiratarjuniya → Bharavi 

 B. Silappadikaram  

  → Adigal and Sattanar 

 C. Manimakalai → Ilango 

 D. Dashakumaracharita  

   → Dardin 

 Select the code for correct ones : 

 (1) B and C 

 (2) A and D 

 (3) Only C 

 (4) A, B, C and D 

 
87. Put the following in an 

assending chronological order of 
construction : 

 A. Puri Jagannatha Temple 
 B. Meenakshi Temple 
 C. Manallapuram Rathas 
 D. Qutub Minar 
 Select the correct answers : 
 (1) A, B, C, D 
 (2) A, C, B, D 
 (3) B, C, A, D 
 (4) C, A, D, B 

88. Some promint historical 
personalities have written 
histories of the early medieval 
period, with different rulers as 
their subjects : 

 A. Amir Khusro about 
Alauddin Khilji 

 B. Ziauddin Barni about 
Mohammad Bin Tugulaq 

 C. Ibn Babuta about Iltutmish 

 D. Minhaz-ul-Siraj about Firoz 
Shah Tughlaq 

 Choose the code for correct 
statement : 

 (1) Only A 

 (2) Only B 

 (3) B and D 

 (4) Only C 
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89. ’ðâÿå˜™Äå ßðéâ–’ð˜µåâÿåê, …½ßæÜÈåÁµå 
Ôåêê•ÏÔæÁµå ’ðÑÔåíú ²ìåêêÁµåÂÃ˜µåâÿå 
ÕÔå²µå˜µåâÿåÄåêÆ ßðëÒÁ™Ôð.  

 A. ÔðëÁµåÑÄðé ¼å²µðñÄó ²ìåêêÁµåÂÃÔåíú 
ÇÈåïÁ¿·™ùÖ²µæ¦ÿó ôòßæÄó Ôåê¼åê¾ 
ÔðëßåÔåêÍÁµó ›ðëé²™˜µåâÿå Äå´µåêÔð 
Äå´µðÎê¼åê. 

 B. ÔðëÁµåÑÄðé ÇÈæºÇÈå¼ó ²ìåêêÁµåÂÃÔåíú 
ÊæÊ²µó Ôåê¼åê¾ …ÊæÐàÒ 
ÑðëéÁ™˜µåâÿå Äå´µåêÔð Äå´µðÎê¼åê. 

 C. ¼æâ–’ðëé¯ð ²ìåêêÁµåÂÃÔåíú Õ¦²ìåêÄå˜µå²µå 
Ôåê¼åê¾ 5 ßðëÜÈå ²µæ¦Ï˜µåâÿæÁµå         
Ê–¦ÿæÇÈåíú²µó, ˜µðëéÑðë”Ò´µå, ƒßåÍÁµó 
Äå˜µå²µå, Ê–éÁµå²µó Ôåê¼åê¾ Ê–é²µæ²µó ˜µåâÿå 
Äå´µåêÔð Äå´µðÎê¼åê.  

 D. ’å¸Ö ²ìåêêÁµåÂÃÔåíú ÊæÊ²µó Ôåê¼åê¾ 
²µæ¹æ ÜÈåÒ˜µæ ²µå Äå´µåêÔð Äå´µðÎê¼åê 

 ÜÈåÒ’ðé¼å˜µåâÿå ÔåêëÑ’å ÜÈå²™²ìåìæÁµå 
‡¼å¾²µåÔåÄåêÆ „²™ÜÝ.  

 (1) A Ôåìæ¼åÐ 
 (2) D Ôåìæ¼åÐ 
 (3) A, B Ôåê¼åê¾ D 
 (4) A, B, C, D 
90. ’ðâÿå˜™ÄåÔåíú˜µåâÿåÑ–Ó Ê·æ²µå½é²ìåê ’åïÚÝé²ìåê 

Ñ’åÛ¸˜µåâÿåê ²ìåìæÔåíúÔåíú ? 
 A. £åÁ™Í¼å Å²µåêÁµðëÏé˜µå 
 B. ƒÁ·™’å ‡¼æÉÁµåÄð 
 C. Áµðë´µå¶ ²µðñ¼å²µå ÊßåêÔåê¼å 
 D. ÔåìæÄåëÞÄó ÄðëÒÁ™˜µð ¦ë¦ê 
 ÜÈåÒ’ðé¼å˜µåâÿå ÜÈåßæ²ìåêÁ™ÒÁµå ÜÈå²™²ìåìæÁµå 

‡¼å¾²µåÔåÄåêÆ „²™ÜÝ. 
 (1) A Ôåê¼åê¾ B  
 (2) B Ôåê¼åê¾ C 
 (3) B Ôåê¼åê¾ D  
 (4) A Ôåê¼åê¾ D 

91. 2001 ²µå ¦Äå˜µå¸½ Ôåê¼åê¾ 2011 ²µå 
¦Äå˜µå¸½²ìåê Äå´µåêÔå¸ ƒÁ·™’å ¦ÄåÜÈåÒ•ÿæÏ 
ÊðâÿåÔåº˜µð²ìåê Áµå²µå Ôåê¼åê¾ ƒ½ ’å´™Ôðê 
¦ÄåÜÈåÒ•ÿæÏ ÊðâÿåÔåº˜µð²ìåê Áµå²µåÔåÄåêÆ 
’åÐÔåêÔæ˜™ …Ôåíú˜µåâÿå ÔåêëÑ’å Áµæ•Ñ–ÜÈå-
Ñæ˜™Áµð.  

 (1) Ê–ßæ²µó Ôåê¼åê¾ Õê¦ÿðëé²µæÒ 

 (2) ²µæ¦ÜÈæÀÄå Ôåê¼åê¾ ’ðé²µåâÿå 

 (3) ‡¼å¾²µå ÇÈåÐÁµðé×å Ôåê¼åê¾ Õê¦ÿðëé²µæÒ 

 (4) Ê–ßæ²µå Ôåê¼åê¾ ’ðé²µåâÿå 

 
92. SAFTA §ÇÈåÉÒÁµåÔåÄåêÆ _______ ×åïÒ˜µåÜÈåÊ·ð-

²ìåêÑ–Ó ¦ÄåÔå²™ 6 ²µåÒÁµåê, 2004 ÄåÑ–Ó ÜÈåà 
ßæ’åÑæÎê¼åê. 

 (1) 10 Äðé ÜÈæ’ó¤ – ‚ÑÒ’æ 

 (2) 12 Äðé ÜÈæ’ó¤ – ÊæÒ˜µæÓÁµðé×å 

 (3) 13 Äðé ÜÈæ’ó¤ – ƒÇ·ÈæãÅÜÈæÀÄå 

 (4) 12 Äðé ÜÈæ’ó¤ – …ÜÈæÓÔåìæÊæÁµó 

 
93. WTO Š²µå´µåê ÔåÚÈå¤’ðë”ÔðêÍ²ìåìæÁµå²µåë 

ÜÈå¡ÔæÑ²ìåê ÜÈåÊ·ð Äå´µðÜÈåÊðé’ðÒÁµåê 
ÅÁµð¤é×åÄå˜µðëÒ´™Áµð. …ÁµåêÔå²µð˜µåë 7 
ÜÈå¡ÔæÑ²ìåê ÜÈåÊ·ð˜µåâÿåê Äå´µðÁ™Áµð. 5 Äðé 
ÜÈå¡ÔæÑ²ìåê ÜÈåÔåìæÔðé×åÔåíú 2003 ²µå 
ÜÈðÇÈð±ÒÊ²µó ÄåÑ–Ó Äå´µðÎê¼åê. …Áµåê ²ìåìæÔå 
ÜÈåÀâÿåÁµåÑ–Ó Äå´µðÎê¼åê, ˜µåê²µåê½ÜÝ.   

 (1) Áµðëßæ  

 (2) ¨ÅéÔæ 

 (3) ÜÝÒ˜µæÇÈåíú²µó  

 (4) ’åÄó’åÄó 
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89. The following statements carry 
the details of some of the 
important battles in history : 

 A. First Battle of Tarain fought 
between Prithviraj Chauhan 
and Mohammad Ghauri. 

 B. First battle of Panipat 
between Babar and Ibrahim 
Lodi. 

 C. Battle of Talikota between 
Vijayanagar and five new 
kingdoms – Bijapur, 
Golkonda, Ahmednagar, 
Bidar and Berar. 

 D. Battle of Khanwa between 
Babar and Rana Sanga 

 Select the code for the correct 
statements : 

 (1) Only A 
 (2) Only D 
 (3) A, B and D 
 (4) A, B, C, D 
 
90. Which of the following are 

features of Indian agriculture ? 
 A. Disgussed unemployment 
 B. High productivity 
 C. Majority of large farmers 
 D. Gamble in the hands of 

monsoon 
 Choose the correct answers : 
 (1) A and B 
 (2) B and C 
 (3) B and D 
 (4) A and D 

91. The highest rate of growth of 
population and the lowest rate of 
growth of population between 
census 2001 and census of 2011 
was recorded respectively by 

 (1) Bihar and Mizoram 
 (2) Rajasthan and Kerala 
 (3) UP and Mizoram 
 (4) Bihar and Kerala 
 
92. The agreement on SAFTA was 

signed during the _____ summit 
on Jan 6th 2004 in ______. 

 (1) 10th SAARC – Sri Lanka 
 (2) 12th SAARC – Bangladesh 
 (3) 13th SAARC – Afghanistan 
 (4) 12th SAARC – Islamabad 
 

93. WTO is directed by ministerial 
conference which meets atlest 
once in every two year. So far 7 
ministerial conference have been 
held. The 5th Ministerial 
conference was held during 
September 2003. Identify the 
place of 5th conference held. 

 (1) Doha 
 (2) Geneva 
 (3) Singapore 
 (4) Cancun 
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94. Š²µå´µåÄðé ÇÈåÒôåÔæÚÝ¤’å ²ìðëé¦Äð²ìåê 
Å¦ÔæÁµå ²µåëÔæ²™ ²ìåìæ²µåê ? 

 (1) µ́æ. ÔðëÒ ð̄’ó ÜÝÒ µ̃ó ƒßåêÓÔæÑ–²ìåìæ 
 (2) ¼ðÒ´µåëÑ”²µó  
 (3) V.K.R.V. ²µæÔó  
 (4) P.C. ÔåêßåÑÄðëÊ–ÜÈó  
 
95. ‡Áµæ²™é’å²µå¸, •ÿæÜÈå˜™é’å²µå¸ Ôåê¼åê¾ 

¦ÿæ˜µå½é’å²µå¸Áµå ƒÊ–·ÔåïÁ™ÂÃ ÔåìæÁµå²™²ìåêÄåêÆ 
1991 ²µåÑ–Ó Ê·æ²µå¼åÁµå „Á¿·™¤’å¼ð²ìåêÑ–Ó      
ÇÈæÐ²µåÒÊ–·ÜÝÁµåÔå²µåê.  

 (1) ²µæ¨éÔó ˜µæÒÁ·™ 
 (2) ÇÝ. ¡ÁµåÒÊ²µåÔåìó  
 (3) ÔåêÄó ÔðëéßåÄó ÜÝÒ˜µó  
 (4) Äå²µåÜÝÒßå ²µæÔó  
 
96. Ôåêë²µåê ÜÈåÒ•ÿðÏ˜µåâÿå ÇÈðñ“ ÔðëÁµåÑð²µå´µå²µå 

Ôðë¼å¾ 45, Š²µå´µåê Ôåê¼åê¾ Ôåêë²µåÄð²ìåêÁµå²µå 
Ôðë¼å¾ 55 Ôåê¼åê¾ Ôåêë²µåÄð²ìåêÁµåê Ôåê¼åê¾ 
ÔðëÁµåÑÁµå²µå Ôåêë²µå²µåÚÈå±²µå Ôðë¼å¾ 90. „˜µå 
Ôåêë²µåÄðé ÜÈåÒ•ÿðÏ²ìåêê     

 (1) 32 (2) 25 
 (3) 30 (4) 41 
 
97. ÔåÏ“¾²ìðëÊÌ ²µåë. 560 Åé´™ Š²µå´µåê 

˜µå´™²ìåìæ²µå •²™éÁ™ÜÈåê¼æ¾Äð. ƒÔåÄåê 15% 
ÑæÊ·å’ð” §ÒÁµåÄåëÆ, …ÄðëÆÒÁµåÄåêÆ 10% 
ÄåÚÈå±’ð” Ôåìæ²™Áµæ˜µå ƒÔåÅ˜µð ÑæÊ·åÔåî …ÑÓ 
ÄåÚÈå±Ôåî …ÑÓ. ÇÈåÐ½ ˜µå´™²ìåìæ²µåÁµå Å¦ ÊðÑð 
‹Äåê ? 

 (1) ` 280, ` 280 
 (2) ` 300, ` 260 
 (3) ` 224, ` 336 
 (4) ` 320, ` 240 

98. ÔåàÔæ¯ðëÒÁµå²µåÑ–Ó A, B Ôåê¼åê¾ C ˜µåâÿåê 

’åÐÔåêÔæ˜™ ` 380, ` 400 Ôåê¼åê¾ ` 420   
˜µåâÿåÄåêÆ ßåë´µåêÔå²µåê. ÅÔåÖâÿå „Áµæ²ìåêÔæÁµå 

` 180 ƒÄåêÆ A, B Ôåê¼åê¾ C ˜µåâ–˜µð ßåÒ¡. 

 (1) ` 57, ` 60 Ôåê¼åê¾ ` 63 

 (2) ` 55, ` 62 Ôåê¼åê¾ ` 63 

 (3) ` 50, ` 62 Ôåê¼åê¾ ` 68 

 (4) ` 58, ` 60 Ôåê¼åê¾ ` 62 

 
99. Š²µå´µåê ÜÈåÒ•ÿðÏ˜µåâÿå ƒÄåêÇÈæ¼å 3:5 „ ™̃Áµð.  

ÇÈåÐ½²ìðëÒÁµåê ÜÈåÒ•ÿðÏ²ìåêÄåêÆ 4 ²™ÒÁµå 

ßð¡¢ÜÝÁµå²µð ƒÄåêÇÈæ¼å 2:3, „ ÜÈåÒ•ÿðÏ 

²ìåìæÔåíúÔåíú ? 

 (1) 10, 22  
 (2) 12, 20 
 (3) 14, 18  
 (4) 12, 22 
 
100. ²µæÔåìó ÇÈåØ¢ÔåìæÊ–·Ôåêê•Ôæ˜™ 8 km 

§ÒÁµåê Ê–ÒÁµåêÕÅÒÁµå ÜÈæ˜µåê¼æ¾Äð. ƒÄåÒ¼å²µå 

ÊÑ’ð” ½²µåê˜™ 8 km ÜÈæ˜µåê¼æ¾Äð. ’ðëÄð˜µð 

ƒÔåÄåê 25 km „˜µðÆé²ìåê Á™“”ÄåÑ–Ó 

ÜÈæ˜µåê¼æ¾Äð. ßðë²µå® Ê–ÒÁµåêÕÅÒÁµå „¼åÄåê 

ÜÈåêÔåìæ²µåê ŠÚÈåê± Áµåë²µåÁµåÑ–ÓÁµæÂÄð ? 

 (1) 10 km 
 (2) 20 km 
 (3) 15 km 
 (4) † ²ìåìæÔåíúÔåî ƒÑÓ 
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94. Who is the real architect of 2nd            
Five year plan ? 

 (1) Dr. Montek Singh Ahluwalia 
 (2) Tendulkar 
 (3) V.K.R.V. Rao 
 (4) P.C. Mahalanobis 
 

95. The Liberalisation, Privatisation 
and Globalisation model of 
development was introduced in 
the Indian Economy during 1991 
by 

 (1) Rajiv Gandhi 
 (2) P. Chidambaram 
 (3) Manmohan Singh 
 (4) Narasimha Rao 
 

96. Of the three numbers, the sum of 
the first two is 45, the sum of the 
second and the third is 55 & the 
sum of the third and thrice the 
first is 90, then the third number 
is 

 (1) 32 
 (2) 25 
 (3) 30 
 (4) 41 
 

97. A man purchases 2 watches at           
` 560. He sells one at 15% profit 
and other at 10% loss, then he 
neither gains nor loses. Find the 
cost price of each watch. 

 (1) ` 280, ` 280 
 (2) ` 300, ` 260 
 (3) ` 224, ` 336 
 (4) ` 320, ` 240 

98. In a business, A, B & C invested          
` 380, ` 400 & ` 420 
respectively. Divide a net profit 
of ` 180 among the partners A, 
B & C. 

 (1) ` 57, ` 60 & ` 63 

 (2) ` 55, ` 62 & ` 63 

 (3) ` 50, ` 62 & ` 68 

 (4) ` 58, ` 60 & ` 62 

 

99. The ratio between 2 numbers is 
3:5. If each number is increased 
by 4, the ratio is 2:3. Find the 
numbers. 

 (1) 10, 22 

 (2) 12, 20 

 (3) 14, 18 

 (4) 12, 22 

 

100. Ram goes 8 km towards west 
from a certain point then after 
turning to his right, he goes 8 
km. In the end he goes 25 km 
towards south-east. How far is 
he from his starting point, 
approximately ? 

 (1) 10 km 

 (2) 20 km 

 (3) 15 km 

 (4) none of these 
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ÜÈåëôåÄð˜µåâÿåê
1.  ÇÈå²™é’ðÛ ÇÈæÐ²µåÒÊ·å̃ µðëÒ µ́å ¼å’åÛ¸Ôðé õ.ŠÒ.„²µó.  ‡¼å¾²µå ßæâÿð²ìåêÑ–Ó ÇÈåÐ×ðÆ ÇÈå½Ð’ð ×ðÐéº²ìåêÄåêÆ ̃ µåê²µåê¼åê Ôåìæ µ́åêÔå

ÔðëÁµåÑê, † ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÑ–Ó ÔåêêÁ™Ð¼åÔæ µ̃åÁµå ƒÁ¿·µåÔæ ßå²™Á™²µåêÔå ƒÁ¿·µåÔæ ²ìåìæÔåíúÁµðé ÇÈåíú® …ÑÓÁ™²µåêÔå ƒÁ¿·µåÔæ
ÔåêêÁ™Ð¼åÔæ µ̃åÁµå ÇÈåÐ×ðÆ µ̃åâÿåê …¼æÏÁ™ §âÿå̃ µðëÒ ™́ÑÓÔðÒÊêÁµåÄåêÆ ÅéÔåíú ÇÈå²™é“ÛÜÈå¼å’å”ÁµåêÂ. ÔðêéÑ–Äå ²ìåìæÔåíúÁµðé ÁµðëéÚÈå
’åÒ µ́åêÊÒÁµåÑ–Ó ƒÁµåÄåêÆ àÒ½²µåê ™̃ÜÝ ÑÊ·åùÏÕ²µåêÔå ×ðÐéº²ìåê ÇÈå²™ÇÈåî¸¤ÔæÁµå Êðé²µð ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÄåêÆ ÇÈǻ µð²ìåê¼å’å”ÁµåêÂ.

2. ƒÊ·åùÏÁ¿·™¤²ìåêê ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåê ÔåÚÈå¤Äó ’ðëé µ́ó A, B, C ƒÁ¿·µåÔæ D, ƒÄåêÆ Ôåê¼åê¾ ÄðëéÒÁµåº ÜÈåÒ•ÿðÏ²ìåêÄåêÆ  OMR

‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–Ó ƒÁµå’æ” ™̃ §Áµå̃ ™ÜÈåÑæ ™̃²µåêÔå ÜÈåÀâÿåÁµåÑ–Ó Ê²µðÁµåê ÜÈåÒ’ðé¼å (ŠÄó ’ðëé µ́ó) µ̃ðëâ–ÜÈåÊðé’åê. ßæ µ̃åë
Å˜µåÁ™¼å ÜÈåÀâÿåÁµåÑ–Ó ¼æÔåíú Ôåê¼åê¾ ÜÈåÒÕé’åÛ’å²µåê ÜÈåà Ôåìæ´™²µåêÔåíúÁµåÄåêÆ •¡¼å ÇÈå´™ÜÝ’ðëâÿåäÊðé’åê. õ.ŠÒ.„²µó.
ßæâÿð²ìåêÑ–Ó  ½â–ÜÝ²µåêÔå ²ìåìæÔåíúÁµðé Ôåìæà½²ìåêÄåêÆ Ê·å½¤ Ôåìæ µ́åêÔåíúÁµåê/ŠÄó ’ðëé µ́ó Ôåìæ µ́åêÔåíúÁµåê ƒÊ·åùÏÁ¿·™¤ µ̃åâÿå
¦ÔæÊæÂ²™²ìåìæ ™̃²µåê¼å¾Áµð. §ÒÁµåê Ôðéâÿð Ê·å½¤ Ôåìæ µ́åÁ™ÁµåÂÑ–Ó/¼åÇÝÉÁµåÂÑ–Ó ƒÒ¼åßå õ.ŠÒ.„²µó. ‡¼å¾²µå ßæâÿð²ìåêÄåêÆ
½²µåÜÈå”²™ÜÈåÑæ µ̃åêÔåíúÁµåê.

3. ÇÈå’å”ÁµåÑ–Ó §Áµå̃ ™ÜÝ²µåêÔå ôò’åÁµåÑðÓé ÅÔåêÍ ÄðëéÒÁµåº ÜÈåÒ•ÿðÏ²ìåêÄåêÆ
ÄåÔåêëÁ™ÜÈåÊðé’åê. ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÑ–Ó Êðé²µð ‹ÄåÄåëÆ Ê²µð²ìåêÊæ²µåÁµåê.

4. † ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð 100 ÇÈåÐ×ðÆ µ̃åâÿåÄåêÆ §âÿå̃ µðëÒ ™́²µåê¼å¾Áµð. ÇÈåÐ½²ìðëÒÁµåê ÇÈåÐ×ðÆ²ìåêê 4 ‡¼å¾²µå̃ µåâÿåÄåêÆ §âÿå̃ µðëÒ ™́²µåê¼å¾Áµð.
ÅéÔåíú ‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–Ó ̃ µåê²µåê¼åê Ôåìæ µ́åÊðé’ðÒÁ™ÅÜÈåêÔå ‡¼å¾²µåÔåÄåêÆ „²ìðê” Ôåìæ ™́’ðëâ–ä. §ÒÁµåê Ôðéâÿð ƒÑ–Ó §ÒÁµå“”Ò¼å
ßðôåê¢ ÜÈå²™²ìåìæÁµå ‡¼å¾²µå̃ µåâ–Ôð²ìðêÒÁµåê ÅéÔåíú Ê·æÕÜÝÁµå²µð ƒ¼åêÏ¼å¾ÔåêÔðÅÜÈåêÔå ‡¼å¾²µå’ð” ̃ µåê²µåê¼åê Ôåìæ ™́. ‹Äðé „Áµå²µåë
ÇÈåÐ½ ÇÈåÐ×ðÆ µ̃ð ÅéÔåíú ’ðéÔåÑ §ÒÁµåê ‡¼å¾²µåÔåÄåêÆ Ôåìæ¼åÐ „²ìðê” Ôåìæ µ́åÊðé’åê.

5. ŠÑæÓ ‡¼å¾²µå̃ µåâÿåÄåêÆ ÅÔåê µ̃ð §Áµå̃ ™ÜÈåÑæ ™̃²µåêÔå ÇÈåÐ¼ðÏé’å ‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–ÓÓ (OMR Sheet) ’ðéÔåÑ ’åÇÈåíþÉ ƒÁ¿·µåÔæ ÅéÑ–
×æÎê²ìåê  ÊæÑóÇÈæÎêÒ¯ó ÇÈðÅÆÄåÑ–Ó Ôåìæ¼åÐ µ̃åê²µåê¼åê Ôåìæ µ́åÊðé’åê. ‡¼å¾²µå ÇÈå½Ð’ð ßæâÿð²ìåêÑ–ÓÄå ÜÈåëôåÄð̃ µåâÿåÄåêÆ

µ̃åÔåêÅÜÈåêÔåíúÁµåê.
6. ŠÑæÓ ÇÈåÐ×ðÆ µ̃åâ–̃ µð ÜÈåÔåìæÄå ƒÒ’å̃ µåâÿåê. ÇÈåÐ½ ¼åÇÈåíþÉ ‡¼å¾²µå’ð” ÇÈåÐ×ðÆ µ̃ð Å µ̃åÁ™ÇÈǻ ™ÜÝÁµå ƒÒ’å̃ µåâÿå 0.25 ²µåÚÈåê± ƒÒ’å̃ µåâÿåÄåêÆ

’åâÿð²ìåêÑæ µ̃åêÔåíúÁµåê.
7. ¡¼åê¾ ’ðÑÜÈå’æ”˜™ ßæâÿð˜µåâÿåÄåêÆ ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåê ’ðëÄð²ìåêÑ–Ó ÜÈðé²™ÜÈåÑæ˜™Áµð. ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð²ìåê …ÄåêÆâ–Áµå ²ìåìæÔå

Ê·æ µ̃åÁµåÑ–Ó²ìåêë ÅéÔåíú ²ìåìæÔå ²™é½²ìåê ̃ µåê²µåê¼åÄåêÆ Ôåìæ µ́å¼å’å”ÁµåÂÑÓ.
8. ÇÈå²™é’ðÛ²ìåê Ôåêê’æ¾²ìåêÔåÄåêÆ ÜÈåë¡ÜÈåêÔå ƒÒ½Ôåê ̃ µåÒ ð̄ Êæ²™ÜÝÁµå ¼å’åÛ¸Ôðé ‡¼å¾²µå ÇÈå½Ð’ð²ìåê ßæâÿð²ìåêÑ–Ó …ÄæÆÔåíúÁµðé

µ̃åê²µåê¼åêÔåìæ µ́åêÔåíúÁµåÄåêÆ ÅÑ–ÓÜÈåÊðé’åê. ÜÈåÒÕé’åÛ’å²µåê ÊÒÁµåê ÅÔåêÍÑ–Ó²µåêÔå ‡¼å¾²µå ÇÈå½Ð’ð²ìåê ßæâÿð²ìåêÄåêÆ ¼åÔåêÍ Ôå×å’ð”
¼ð̃ µðÁµåê’ðëÒ µ́åê  Ñð’å”’ð” ¼ð̃ µðÁµåê’ðëâÿåêäÔåÔå²µð̃ µåë ÅÔåêÍ ÅÔåêÍ „ÜÈåÄåÁµåÑ–Ó²ìðêé ’åêâ–½²µå¼å’å”ÁµåêÂ.

9. ÇÈåÐ×ðÆ µ̃åâÿåê ’åÄåÆ µ́å Ôåê¼åê¾ „Ò µ̃åÓ Ê·æÚÈð²ìåêÑ–Ó²µåê¼å¾Ôð. ’åÄåÆ µ́å ÇÈåÐ×ðÆ µ̃åâÿåÑ–Ó ÜÈåÒÁµðéßå ‡Ò¯æÁµå²µð, Áµå²ìåêÕ®ê± „Ò µ̃åÓ Ê·æÚÈð²ìåê
ÇÈåÐ×ðÆ˜µåâÿåÄåêÆ ˜µåÔåêÅÜÈåêÔåíúÁµåê. ÇÈåÐ×ðÆ ÇÈå½Ð’ð²ìåê ÇÈåÐ×ðÆ˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµðé ˜µðëÒÁµåÑ˜µåâ–ÁµåÂ²µåë „Ò˜µåÓÊ·æÚÈð²ìåê ÇÈåÐ×ðÆ˜µåâÿðé
ƒÒ½ÔåêÔæ ™̃²µåê¼å¾Ôð.

ÄðëÒÁµåº ÜÈåÒ•ÿðÏ

²ìåìæÔåíúÁµðé ²™é½²ìåê ÔðëÊðñÑó Ç·ÈðùîéÄó, ’æÏÑó ’åêÏÑðé®²µó Ôåê¼åê¾ …¼å²µð ²™é½²ìåê ŠÑð’æ±øÅ’ó/’åÔåêêÏÅ’åðéÚÈåÄó
ÜÈæÁ·µåÄå̃ µåâÿåê …¼æÏÁ™̃ µåâÿåÄåêÆ ÇÈå²™é’æÛ ’ðéÒÁµåÐÁµå „Ôå²µå̧ Áµðëâÿå̃ µð ¼å²µåêÔåíúÁµåÄåêÆ ÅÚÈðéÁ·™ÜÝÁµð.

Note : English version of the instructions is printed on the front cover of this booklet.121-A

ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð
ÜÈæÔåìæÄåÏ ÇÈå½Ð’ð

(ÇÈå½Ð’ð-I)

ÔåÚÈå¤Äó ’ðëé µ́ó

† ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð²ìåêÄåêÆ ¼ð²µð²ìåêêÔåÒ¼ð ÅÔåê˜µð ½â–ÜÈåêÔåÔå²µð˜µåë …ÁµåÄåêÆ ¼ð²µð²ìåê’åë´µåÁµåê.

µ̃å²™ÚÈå³ ÜÈåÔåê²ìåê ‘ 1½ µ̃åÒ ð̄̃ µåâÿåê µ̃å²™ÚÈå³ ƒÒ’å̃ µåâÿåê ‘ 200
DA

ÕÚÈå²ìåê ÜÈåÒ’ðé¼å : 121


